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1) KEE=2—I X DMK RE R F

oW W
_ - Al w56 | 7] 8] 91| u|i2| 1|2 3 |&s &l v
K&l o< <« o< o< << o< o<l o<l oal o«
=) BEOOE) | mIE[ o< <] o< <) o< <) <) <) <) o< o< o« o<« o«af o«
Sy o<1 o< o< o< <o o< <ol oal o«
Ferm| <0.1] <0.1] <0.1| <0.1| <0.1| <0.1] <0.1] <0.1| <0.1| <0.1| <0.1| <0.1
) BEO(FE) || <0. 1] <0.1] <0. 1| <0.1| <0.1] 0. 1| <0.1| <0. 1] <0.1| <0.1| <0. 1| <0.1| <0.1] €0. 1| <0.1
4| €0. 1] €0. 1] <0. 1] <0.1| <0.1| <0.1| <0.1| <0.1] <0.1] <0.1] <0.1| <0.1
- B | 0.79] 0.73| 0.77| 0.74| 0.66] 0.83] 0.79| 0.73| 0.69] 0.69| 0.65| 0.61
%g 2 ég (mg/L) | Fcf%| 0.54| 0.45| 0.42] 0.54| 0.52| 0.42| 0.36| 0.62| 0.59| 0.61| 0.57| 0.50| 0.83| 0.36/| 0.62
4] 0.68] 0.57] 0.60| 0.63| 0.56| 0.67| 0.64| 0.65| 0.64| 0.63| 0.61| 0.56
WO R
. = A 4 5 6 7 8 9 10 | 11 | 12 1 2 3| em | AR |
Fem| <] o< <) o< o< o<« <) o< <) o<l o<l o«
=) EOgE) &Il <] <] o< o< <« <) <) <) o< o< o< o« o<l oal o«
Sy o< < <) <) o< o< o< o<l o<l o< o<a) o«
B | <0.1| <0. 1| €0.1| <0.1] <0.1| <0.1| <0.1] 0. 1| <0.1| <0. 1] <0.1| <0.1
) () | K] <0.1] <0.1] €0.1] <0.1| <0.1| <0.1| <0.1| €0.1| €0.1| <€0.1| <0.1| <0.1| <0.1| <0.1| €0.1
SERH| <0. 1] €0. 1] <0.1] <0. 1| €0.1| <0.1] <0. 1| <0.1| <0. 1| <0.1| <0.1] <0.1
| 0.75] 0.77| 0.67| 0.64| 0.67| 0.74] 0.72] 0.74| 0.72| 0.82| 0.75| 0.87
%g 2 i gg (mg/L) | FcI%| 0.64| 0.62| 0.61] 0.57| 0.59| 0.64| 0.68| 0.67| 0.67| 0.67| 0.68| 0.69| 0.87| 0.57| 0.68
4] 0.68] 0.68] 0.65| 0.61| 0.62] 0.68| 0.70| 0.70] 0.69] 0.71| 0.71| 0.78
W H R
i 5 Ay 5 6 7 8 9 | 10 | 11 | 12 | 1 2 3| e | B | B
em| o <1)o<1po<a)o<ap <) <1po<1po<apo<ap <) <«
& B &K <l o< o< o<l <) <<l o< o< o<l o<l o< gl o«
Wyl < <1 <) <)< o< < <) o<alo<a o<al o«
FeE| <0.1] <0.1] <0.1| <0.1| <0.1| €0.1] <€0.1] <0.1| <0.1| <0.1| <0.1| <0.1
V& (B | #f&| <0. 1| <0. 1| <0.1| <0.1| <0.1] <0.1| <0.1| <0.1| <0.1| <0.1| <€0.1| <0.1| <0.1| <0.1| <0.1
S| <0, 1] <0. 1] <0. 1] <0.1| <0.1| <0.1| <0.1| 0. 1] <0.1] <0.1] <0.1| <0.1
Here| 0.81] 0.84[ 0.74| 0.75| 0.78| 0.76] 0.76] 0.79| 0.79| 0.80| 0.80| 0.85
%g oo gg (mg/L) | #A%| 0.70| 0.70| 0.67] 0.59| 0.71| 0.70| 0.73| 0.73| 0.69| 0.73| 0.70| 0.70| 0.85| 0.59| 0.74
4] 0.76] 0.80] 0.71| 0.65| 0.75| 0.73| 0.74| 0.75| 0.75| 0.76| 0.73| 0.78
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A
) 4 5 6 7 8 9 | 10 | 11 | 12| 1 2 3| @ | k| P
H H
Bl <) <) <1 <) o< <) <) <] <] o< <) o«
@, BEO(BE) | BAK| <1 <1 <1 <) <) <] <] <] o< <o« o«al o<l o<« o«
RA] <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1
g | <0. 1] €0. 1| <0.1| <0.1] €0.1| <0.1| <0.1] <0.1| <0.1| <0. 1| <0.1] <0.1
& B (FE) | BAE| <0. 1] <0.1] <0.1| <0.1] <0.1] <0.1| <0.1| <0.1] <0.1| <0.1| <0.1| <0. 1| <0.1| <0.1| <0.1
SEH[ <0. 1| <0.1| <0.1] <0.1| <0.1| <0.1] <0.1] <0.1| <0.1| <0.1] <0.1| <0.1
FE] 0.79] 0.68| 0.66] 0.75] 0.74| 0.75| 0.73| 0.73] 0.71| 0.75| 0.70| 0.69
g ® i gg(mg/L) BI%| 0.68] 0.60| 0.60] 0.64] 0.65| 0.71| 0.69| 0.65| 0.62| 0.68| 0.62] 0.64| 0.79| 0.60| 0.69
SEHI| 0.72) 0.65] 0.63] 0.71] 0.71| 0.73] 0.71] 0.69| 0.68| 0.70| 0.66| 0. 66
mEBR
- 5 A 4 5 6 7 8 9 10 | 11 | 12 1 2 3 | &E | K| Y
el o<l o< o<« <) o< o< o<« o< o<l o<al o< o«
&) B | BAIEl <) <) <« <] o< o<« o< <) o<« o<« o<l o<l o«a] o<l o«
¥l <1l <1 <) <1 <) <) <] o< o< <] o<1 <
&l <0.1] <0.1] <€0.1] 0.1 <0.1] <0.1| <0.1| <0.1] <0.1| <0.1| <0.1| <0.1
i) B (BE) | Bel%| <0. 1] <0. 1| <0.1| <0.1] <0.1| <0.1| <0.1| <0.1] <0.1| <0.1| <0.1] <0.1| <0.1| <0.1] <0.1
SEH| <0. 1| <0. 1] <0. 1] <0.1| <0.1| <0.1] <0.1| <0.1| <0.1] <0.1] <0.1| <0.1
iE| 0.78] 0.76| 0.66] 0.69] 0.73| 0.72| 0.74| 0.73] 0.72| 0.73| 0.75| 0.77
s . i (mg/L) | A% 0.70] 0.61| 0.61| 0.63| 0.68] 0.66| 0.71| 0.67| 0.66| 0.66| 0.63| 0.69| 0.78| 0.61| 0.70
O R OF
SEHI| 0.74| 0.68] 0.63] 0.67| 0.70] 0.70] 0.73] 0.70| 0.69| 0.70| 0.69]| 0.72
KE T =X —HEHAT
4 i ok RO & OE %O
MO R BOEAIT 1 TH EiiaEN
WOE MR B AGEE L E KSR WHRHE1TH EHAERN
I T JCEERT 1T B PEIERG B KR EHEATN
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2 ) el i 7K S RAG AKAR K
el i A R AR KiK. (2D 1)

K / 4 5 6 7 8 9
Bt 0 0 0 0 0 0
— iy b & (Cru/ml) | Fef 0 0 0 0 0 0
) 0 0 0 0 0 0
o4
PN i 545
8| - - - - - -
Il <0.001  <0.001| <0.001| <0.001| <0.001| <0.001
i & % O b & W (mg/L) | &f&| <0.001] <0.001| <0.001| <0.001| <0.001| <0.001
SEH| <0.001)  <0.001|  <0.001| <0.001| <0.001| <0.001
i <0.03 <0. 03 <0. 03 <0. 03 <0. 03 <0. 03
Bk O % o b & B (ng/l) KK <0.03 <0.03 <0.03 <0.03 <0.03 <0. 03
1 Sl <0.03] <0.03]  <0.03)  <0.03|  <0.03]  <0.03
B <0.001|  <0.001]  0.002| <0.001|  0.004| <0.001
v~ AR ORZEOAEY (mg/L) &K <0.001] <0.001| <0.001| <0.001| <0.001| <0.001
i SE#I[ <0.001)  <0.001|  0.001| <0.001|  0.002| <0.001
1 12.1 16.0 14.5 10.5 13.1 11.7
# ok ®m A A v (mg/l) | K 11.5 13.0 12.5 9.9 11.0 10.5
= S 11.8 14.5 13.5 10. 2 12.0 11.1
i 0.6 0.7 0.7 0.6 0.6 0.6
el 1% L7 (TOC)  (mg/L) | A 0.6 0.6 0.6 0.5 0.6 0.6
g ¥ 0.6 0.6 0.6 0.6 0.6 0.6
i 7.53 7.58 7.56 7.57 7.61 7.55
pH (A AR 7.53 7.56 7.56 7.55 7.56 7.51
S 7.53 7.57 7.56 7.56 7.58 7.53
7S BERL BESR LU RERAL BREARL|RE AL RAERL
L k) WP U BER U RER U BRER L RERL| BELL
a2 0.5 0.5 0.5 0.5 0.5 0.5
=) (B I 0.5 €0.5 0.5 €0.5 0.5 0.5
¥ <0.5 0.5 <0.5 0.5 <0.5 0.5
i 0.03|  <0.01 0.01 0. 02 0.06|  <0.01
i BB | KIK <0.01 <0.01 <0.01 0.01 0.02 <0.01
S 0.02|  <0.01| <0.01 0. 02 0.04|  <0.01
# i 0. 82 0.82 0.81 0.78 0.83 0.78
fé wEoBE % B F (mg/L) | IX 0. 81 0.82 0.78 0.76 0.79 0.77
8 S 0. 82 0. 82 0.80 0.77 0. 81 0.78
% 4] 0.85 0.87 0.89 0.83 0. 89 0.83
;Ei V55 © i) #  (mg/L) | FiX 0.85 0. 86 0.85 0. 80 0.83 0.81
TI:); S 0.85 0. 86 0.87 0. 82 0. 86 0. 82
I8
AR (KMnO, ¥4 # & ) (mg/L) 0.9 0.8 0.6 0.8 0.7 0.8
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10 11 12 1 2 3 %4 =311 4159 R
0 0 0 0 0 0
0 0 0 0 0 0 24 0 0 0
0 0 0 0 0 0
24 -
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001 24| <0.001| <0.001| <0.001
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001
<0.03|  <0.03/  <0.03|  <0.03  <0.03  <0.03
<0.03|  <0.03]  <0.03|  <0.03  <0.03  <0.03 24/ <0.03|  <0.03  <0.03
<0.03|  <0.03/  <0.03|  <0.03  <0.03  <0.03
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001 24/ 0.004| <0.001] <0.001
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001
17.2 15.9 15.8 15.8 12.7 14.3
15. 1 11.9 15.7 15.8 12. 4 13.5 24 17.2 9.9 13.4
16.2 13.9 15.8 15.8 12.6 13.9
0.7 0.7 0.7 0.7 0.7 0.7
0.6 0.7 0.7 0.7 0.7 0.7 24 0.7 0.5 0.6
0.6 0.7 0.7 0.7 0.7 0.7
7.59 7.60 7.55 7.53 7.56 7.61
7.55 7.52 7.46 7.52 7.56 7.61 24 7.61 7.46 7.55
7.57 7.56 7.50 7.52 7.56 7.61
BERL BEAR L RESRLU BRE SR L RE AL AL 24 R L
BER U BER U\ RER U BRER L RER L BERL 24 BERL
0.5 0.5 <0.5 0.5 <0.5 0.5
<0.5 0.5 0.5 0.5 0.5 0.5 24 0.5 0.5 <0.5
0.5 0.5 <0.5 0.5 <0.5 0.5
0. 02 0.01 0.01 0.01 0.03 0. 02
<0.01 0.01| <0.01| <0.01 0.01|  <0.01 24 0.06| <0.01 0.01
0.01 0.01|  <0.01|  <0.01 0.02 0.01
0.81 0.78 0.78 0.79 0. 82 0.78
0.76 0. 69 0.72 0.78 0.79 0.77 24 0.83 0. 69 0.78
0.78 0.74 0.75 0.78 0. 80 0.78
0. 86 0. 82 0. 84 0. 85 0. 87 0. 84
0. 80 0. 74 0.76 0. 82 0. 84 0. 84 24 0.89 0. 74 0.83
0.83 0.78 0. 80 0. 84 0. 86 0. 84
0.9 0.9 0.8 1.2 0.9 0.6 12 1.2 0.6 0.8
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el K R AR K AR K (2D 2)

HH / 4 5 6 7 8 9
e 16. 4 23.4 24.2 26. 1 29.5 27.5
7K w (O | KK 15.0 21.7 22.2 23.7 28.0 24. 4
R 15.7 22.6 23.2 24. 9 28. 8 26. 0
1R 5 34.2 38.8 39.0 38.4 39.2 39.8
7 v 7 ) B (mg/L) | &K 32.6 36. 1 34.6 36. 4 39. 2 37.6
2 33.4 37. 4 36.8 37. 4 39.2 38.7
W& FE (mg/L) 2.0 1.8 1.2 1.7 1.1 1.7
i %3 e = # (meg/L) 0. 92 1.03 0.77 0. 62 0.80 0.84
it /3 A i > (mg/L) 19.3 23. 2 19.5 17.0 23.2 18.9
Bely o o » A @ E (ng/l) 29 32 29 25 28 26
~ 7 x v U oA O (mg/L) 8 9 9 7 7 7
IH R 16.7 19.3 18.9 16.0 18.8 17.5
! g = e F (nS/m) | MK 16.2 18.3 16.6 16.0 17.6 17.2
) 16. 4 18.8 17.8 16.0 18.2 17.4
g w gea [i73 % (mg/L) 9.4 7.6 7.6 6.8 6.3 5.9
Bl 0.024]  0.032]  0.027|  0.023]  0.027|  0.023
2 04 B W b E BAK[  0.021]  0.022]  0.025 0.018)  0.021|  0.021
S| 0.022) 0 0.027|  0.026]  0.020]  0.024|  0.022
L B K oN~a v E (ng/l) 0.040|  0.048 0.054|  0.045 0.047|  0.049
WOk MmO (B OE ) (mg/L) <0.001| <0.001 <0.001| <0.001| <0.001| <0.001
7 U 7 AR Y T A (20 0 0
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10 11 12 1 2 3 [EE=' e =459 )
21.3 20. 0 14. 0 11.3 10.5 13.5
21.0 17.8 12.6 8.8 9.2 13.3 24 29.5 8.8 19.0
21.2 18.9 13.3 10.0 9.8 13.4
41.0 39.3 37. 4 36.6 30. 4 37.2
38.6 36. 4 36. 6 35.0 30. 2 37.1 24 41.0 30. 2 36.7
39.8 37.8 37.0 35.8 30.3 37.2
1.2 2.2 1.6 2.3 2. 2.2 12 2.3 1.1 1.8
1. 08 1.25 1.28 1. 20 0.89 0.95 12 1.28 0. 62 0.97
21.6 21.4 22.6 20. 8 18.0 19.5 12 23.2 17.0 20. 4
30 32 35 32 28 30 12 35 25 30
9 10 10 9 8 9 12 10 7 8
21.0 20. 2 20. 0 19. 4 16. 1 17.6
19.8 18.2 19.3 18.5 15.6 17.5 24 21.0 15.6 18.0
20. 4 19.2 19.6 19.0 15.8 17.6
7.3 7.8 10. 2 10.9 11.5 10.0 12 11.5 5.9 8.4
0.025|  0.027|  0.030|  0.026|  0.026]  0.030
0.024|  0.025|  0.028/  0.025] 0.024| 0.025 24/ 0.032| 0.018]  0.025
0.024|  0.026]  0.029|  0.026| 0.025]  0.028
0.047|  0.038|  0.037| 0.042|  0.070|  0.033 12| 0.070|  0.033]  0.046
<0.001| <0.001| <0.001| <0.001| <0.001 <0.001 12| <0.001| <0.001| <0.001
0 0 4 0 0 0
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PR K e KA K (2D 3)

A

S 4 5 6 7 8 9
BRI TAKROEONRAEY g/l <0.0003|  <0.0003| <0.0003| <0.0003| <0.0003| <0.0003
KO Kk O F o b A W (mg/L) | <0.00005 <0.00005| <0.00005| <0.00005| <0.00005| <0.00005
t v v kK O ZE o LA W (mg/l) <0. 001 <0. 001 <0. 001 <0.001 <0.001 <0.001
b £ K O 2 o b A W mg/l) <0. 001 <0. 001 <0. 001 <0. 001 <0.001 <0.001
N oMo 7 v A b A # (mg/l) <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005
i fil§ [ HE = #  (mg/L) <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004
YT e A F v RO ALY T v (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
il e HE 28 K OV AL AN MR RE 2 FE (mg/L) 0.92 1.03 0.77 0. 62 0. 80 0.84
7 v F KR O E O A& P (mg/l) 0.10 0.10 0.11 0.10 0.11 0.11
v #E K XX O LA W (meg/l) 0.1 0.1 0.1 0.1 0.1 0.1
g i it R #  (mg/L) <0.0002|  <0.0002| <0.0002| <0.0002| <0.0002| <0.0002
L4 — ¥ A F ¥ v (mg/l) <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005
CITM LAY S BT e | <o.004]  <0.004) <0004 <0004 <0.004|  <0.004
4 = o A % v (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002

Xl 53 7 v v = F L > (mg/l) <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
KU /7 v om = F L ¥ (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
~ v € > (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001

% M2 # iz (mg/L) <0. 06 <0. 06 <0. 06 0.12 0.13 0.11
V4 = = e fz  (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
7 = = N I 2 (mg/L) 0. 002 0. 001 0. 005 0. 008 0. 006 0. 007

5 v 4 = = e fz  (mg/L) <0. 003 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003
Y 7 v ® 7 v ouw A ¥ v (ng/l) 0. 004 0. 004 0. 005 0. 003 0. 006 0. 004
R F# % (mg/L) 0.003 0. 005 0. 002 0. 002 0. 003 0. 002
F S N AN = S S SV (. 74)) 0. 010 0. 010 0.015 0.017 0. 020 0.017

H k y V4 = o fE B (mg/L) <0. 003 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003
7 na ® ¥/ v oua A ¥ v (ng/l) 0. 003 0. 003 0. 005 0. 006 0. 007 0. 006
v = ES & I 2 (mg/L) 0. 001 0. 002 <0. 001 <0. 001 0. 001 <0.001
A v A 7T A F v F (mg/L) <0. 008 <0. 008 <0. 008 <0. 008 <0. 008 <0. 008
Mmoo & O % o b & ¥ (ng/L) 0.1 0.1 0.1 0.1 <0.1 0.1
TN =g AKEOYZEOAAEYW (mg/l) 0.02 0.02 0.02 0.02 0.02 0.02
W Kk O = o b A& W (mg/L) 0. 1 <0.1 <0.1 <0.1 <0.1 <0.1
FFU A KEOTEONAAEYW Mg/ 13.8 18.8 15.1 15.2 18.7 16. 2
BN T A= SR N () (ng/L) 37 1 38 32 35 33
7 & V33 = ¥ (mg/L) 76 102 110 78 136 107
e 4 A4 v Fom & M Al (hg/l) <0. 02 <0. 02 <0. 02 <0. 02 <0. 02 <0. 02
D B * 2 2 v (ng/L) <1 <1 <1 <1 <1 <1
2- A F A4 YV RNV F — N (ng/L) <1 <1 <1 <1 <1 <1
¥ 4 A v H om IE % A (mg/L) <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005
7 - J — % o (mg/L) <0.0005|  <0.0005| <0.0005| <0.0005| <0.0005| <0.0005
Ty FEUVCREOEOAEW (mg/l) <0.002 <0.002
v 7 v kW™ ZE O b A& W (mg/l) <0. 0002 <0. 0002
= v Fr L EO®ZE o0, AEH (el <0. 002 <0.002
Le- ¥ 7 m v = % v (mg/L) <0. 0004 <0. 0004
b~ Jb - > (mg/L) <0. 04 <0. 04

w |7 A NBY Q- F ) ~F L) (ng/l) <0. 008 <0. 008

i g iy i =3 e (mg/L) <0. 06 <0. 06

Ul 7 mm 72+ =+ U A (gl <0. 001 <0. 001

gmfa Ko7 = 5  — L (mg/L) <0. 002 <0. 002

& | K ¥ <1 <1

H | it I7d e (mg/L) 1.7 1.6 1.1 1.5 1.0 1.5

Hl,,1- F vV 7 v o = % > (mg/l) <0.03 <0.03
A F )N -t-7 F L= —F )L MBE) (mg/L) <0. 002 <0. 002
5 e G E (TON) 1 1 1 1 1 1
5 N | 7 " % -1.4 -1.2 -1.3 -1.3 -1.1 -1.3
(5 J& * S il B (CFU/ml) 0 1
L1 — Y 7 v v xF L v (mg/l) <0.01 <0.01
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10 11 12 1 2 3 1% 54 b54I59 S
<0.0003|  <0.0003| <0.0003| <0.0003| <0.0003| <0.0003 12| <0.0003|  <0.0003| <0.0003
<0.00005| <0.00005| <0.00005| <0.00005| <0.00005| <0.00005 12| <0.00005| <0.00005| <0.00005
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001
<0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 12 <0. 005 <0. 005 <0. 005
<0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 12 <0. 004 <0. 004 <0. 004
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001
1.08 1.26 1.28 1.20 0.89 0.95 12 1.28 0. 62 0.97
<0.08 0.08 0. 09 <0. 08 <0. 08 <0. 08 12 0.11 <0. 08 <0. 08
0.1 0.1 0.1 0.1 0.1 0.1 12 0.1 0.1 0.1
<0.0002|  <0.0002| <0.0002| <0.0002| <0.0002|  <0.0002 12| <€0.0002| <0.0002|  <0.0002
<0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 12 <0. 005 <0. 005 <0. 005
<0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 12 <0. 004 <0. 004 <0. 004
<0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 12 <0. 002 <0. 002 <0. 002
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001
0.11 0.07 0.08 <0. 06 <0. 06 <0. 06 12 0.13 <0. 06 <0. 06
<0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 12 <0. 002 <0. 002 <0. 002
0. 002 0. 001 0. 001 <0.001 0. 001 <0.001 12 0. 008 <0.001 0. 003
<0.003 <0.003 <0.003 <0.003 <0.003 <0.003 12 <0.003 <0.003 <0.003
0. 005 0. 004 0. 004 0. 003 0. 002 0. 003 12 0. 006 0. 002 0. 004
0. 004 0. 003 0. 003 0. 004 0. 002 0. 002 12 0. 005 0. 002 0. 003
0.013 0. 008 0.010 0. 006 0. 005 0. 006 12 0. 020 0. 005 0.011
<0.003 <0.003 <0.003 <0.003 <0.003 <0.003 12 <0.003 <0.003 <0.003
0. 004 0. 002 0. 003 0. 002 0. 002 0. 002 12 0. 007 0. 002 0. 004
0. 002 0. 001 0. 002 0. 001 <0.001 0. 001 12 0. 002 <0.001 <0.001
<0. 008 <0. 008 <0.008 <0.008 <0.008 <0.008 12 <0.008 <0.008 <0.008
0.1 0.1 0.1 0.1 0.1 <0.1 12 <0.1 <0.1 <0.1
0. 02 0. 02 0. 02 0. 02 0.01 0.01 12 0. 02 0.01 0. 02
0.1 0.1 <0.1 <0.1 <0.1 <0.1 12 <0.1 <0.1 <0.1
19.4 18.9 18.2 17.2 13.1 16.4 12 19.4 13.1 16.8
39 42 45 41 36 39 12 45 32 38
107 107 111 98 89 101 12 136 76 102
<0. 02 <0. 02 0. 02 <0.02 <0.02 <0. 02 12 <0. 02 <0. 02 0. 02
<1 <1 <1 <1 <1 <1 12 <1 <1 <1
<1 <1 <1 <1 <1 <1 12 <1 <1 <1
<0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 12 <0. 005 <0. 005 <0. 005
<0.0005|  <0.0005| <0.0005| <0.0005| <0.0005| <0.0005 12| <0.0005| <0.0005|  <0.0005
<0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
<0. 0002 <0. 0002 4] <€0.0002|  <0.0002|  <0.0002
<0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
<0. 0004 <0. 0004 4] <€0.0004| <0.0004|  <0.0004
<0. 04 <0. 04 4 <0. 04 <0. 04 <0. 04
<0. 008 <0.008 4 <0.008 <0.008 <0.008
<0. 06 <0. 06 4 <0. 06 <0. 06 <0. 06
<0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
<0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
<1 <1 4 <1 <1 <1
1.1 1.9 1.4 2.0 1.9 1.9 12 2.0 1.0 1.6
<0.03 <0.03 4 <0.03 <0.03 <0.03
<0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
1 1 1 1 1 1 12 1 1 1
-1.2 -1.2 -1.3 -1.4 -1.6 -1.3 12 -1.1 -1.6 -1.3
4 0 4 4 0 1
<0.01 <0.01 4 <0.01 <0.01 <0.01
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1,3—Y7un7ua~X (D—D) (mg/L) <0.0005|  <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
22 —DPA (X ZK) (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0.001 <0.001 <0.001
24 — D (24 — P A ) (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
E P N (mg/L) | <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
M C P A (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
T v o = 2 (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
7 - = - — K (mg/L) <0.0008| <0.0008| <0.0008| <0.0008 4| <0.0008| <0.0008| <0.0008
7 ]\ v D% v (mg/L) <0.0001| <0.0001| <0.0001| <0.0001 4] <0.0001| <0.0001| <0.0001
7 = =4 iR 2 (mg/L) | <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
7 N b~ 7 A (mg/L)

7 = V4 o — JL (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
A4 Y X ¥ F  F > (mg/L)| <0.00008| <0.00008| <0.00008| <0.00008 4| <0.00008| <0.00008| <0.00008
A4 Y 7 = ¥ & A (mg/L)| <0.00001| <0.00001| <0.00001| <0.00001 4| <0.00001| <0.00001| <0.00001
A4y 7uaHBH 7 (MIPC) (mg/L) <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
Ay 7uaF A7 (IPT) (mg/L) <0.003 <0. 003 <0. 003 <0. 003 4 <0. 003 <0. 003 <0. 003
A 7N KRAXA(IBP) (mg/l) <0.0009|  <0.0009| <0.0009| <0.0009 4| <0.0009| <0.0009| <0.0009
A4 X J 7 X v v (ng/L) <0.001 <0.001 <0.001 <0.001 4 <0.001 <0.001 <0.001
A4 v X 7 7 7 v (mg/L)| <0.00009| <0.00009| <0.00009| <0.00009 4| <0.00009| <0.00009| <0.00009
— 2 7 v H ) 7 (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
TF 4T = AR (=Y T =R A EDDP) (mg/L) | <0.00006| <0.00006| <0.00006| <0.00006 4| <0.00006| <0.00006| <0.00006
B 7 = v 7 v v 7 A (ng/L) <0.0008|  <0.0008| <0.0008| <0.0008 4| <0.0008| <0.0008|  <0.0008
TR TY = (mraxy—u) (ng/L) | <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
T RANLNT 7o (R ) (ng/L) <0.0001| <0.0001| <0.0001| <0.0001 4 <0.0001| <0.0001| <0.0001
F % % 2 7 g X K v (mg/L) <0.0002| <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
T X 8 (F M H) (mg/L)| <0.0004] <0.0004| <0.0004| <0.0004 4| <0.0004| <0.0004| <0.0004
Uy % 2 F v v v (ng/l) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
71 z B 7N Z (mg/L) | <0.000006| <0.000006| <0.000006| <0. 000006 4| <0.000006| <0.000006| <0. 000006
B 7 = v A k7 — b (mg/L)| <0.00008| <0.00008| <0.00008| <0.00008 4| <0.00008| <0.00008| <0.00008
Vi % v 4 7 (mg/L)

SNy (N A C)  (mg/L) <0.0005| <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
v 7 v X I K (mg/L) <0.0004| <0.0004| <0.0004| <0.0004 4| <0.0004| <0.0004| <0.0004
71 Jb R 7 = > (mg/L) | <0.00005| <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
¥ /27 732 (A CN ) (mg/L)| <0.00005| <0.00005 <0.00005 <0.00005 4| <0.00005| <0.00005| <0.00005
X Y - b > (mg/L) <0. 003 <0. 003 <0. 003 <0. 003 4 <0.003 <0. 003 <0. 003
7 N JL =4 > (mg/L) <0.0003|  <0.0003|  <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
7 ) R A — ~ (mg/L) <0. 02 <0. 02 <0. 02 <0. 02 4 <0. 02 <0. 02 <0. 02
J v Ak ¥ x — b (mg/L)

7 o owa X 7 v v 7 (mg/L) <0.0002|  <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002|  <0.0002
su)r=ra 7=z (CNP) (mg/L) <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
7 oowm b v U A A (mg/L)| <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
souXua=,)L(TPN) (mglL) <0.0005|  <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
v 7 -+ D% > (mg/L) | <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
7 J KR A (CY AP ) (mg/L)| <0.00003 <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
v ey (DCMU) (mglL) <0.0002|  <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002|  <0.0002
7 ur~X=,L (DBN) (mglL) <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
ru )R A (DDVP) (mg/L)| <0.00008| <0.00008| <0.00008| <0.00008 4| <0.00008| <0.00008| <0.00008
D4 7 7 4 k (mg/L) <0. 001 <0. 001 <0. 001 <0.001 4 <0. 001 <0. 001 <0. 001
D ZNVIRR Y (mF I F A ARY)  (mg/L) | <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
P4 + 7 J > (mg/L)

CFA I N AN A=FFREIK (ng/l)

DX I 7 =4 JL (mg/L) | <0.00009| <0.00009| <0.00009| <0.00009 4| <0.00009| <0.00009| <0.00009
o nm R v 7 F b (mg/L) | <0.00006| <0.00006| <0.00006| <0.00006 4| <0.00006| <0.00006| <0.00006
v v v (C A T ) (mg/L)| <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
Y A X A b U v (mg/L) <0.0002| <0.0002| <0.0002| <0.0002 4| <€0.0002| <0.0002|  <0.0002
R 8 T — ~ (mg/L) <0.0005| <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
v A I ) v (mg/L) <0.0003| <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003|  <0.0003
Y X ¥ L — k (mg/L)| <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
X A 7 ) > (mg/L) | <0.00005| <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
vd A VN =i v (mg/L) <0. 008 <0. 008 <0. 008 <0. 008 4 <0. 008 <0. 008 <0. 008
vl 4 A > b (mg/L)

Ea 7 D% = JL (mg/L) <0.001 <0.001 <0.001 <0. 001 4 <0. 001 <0. 001 <0. 001
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¥ % = 2 (mg/L) <0.0002|  <0.0002| <0.0002| <0.0002 4| <0.0002|  <0.0002| <0.0002
F 4 ¥ v 7 (mg/l) <0.0008|  <0.0008| <0.0008| <0.0008 4| <0.0008| <0.0008| <0.0008
F AT 7 Fx— b A TF I (ng/l) <0. 003 <0. 003 <0. 003 <0. 003 4 <0. 003 <0. 003 <0. 003
F F X H v 7 (mg/L) <0.0002|  <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
TNTHNT (MBPMC) (ng/L) <0.0002|  <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
I D) 4 =4 B L (mg/L) | <0.00006| <0.00006| <0.00006| <0.00006 4| <0.00006| <0.00006| <0.00006
R Z oAk (DEP) (mg/L)| <0.00005 <0.00005 <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
KU v s Z Y — )b (mg/L) <0.0008|  <0.0008| <0.0008| <0.0008 4| <0.0008| <0.0008| <0.0008
U 7 o Z U > (mg/L) <0.0006|  <0.0006| <0.0006| <0.0006 4| <0.0006| <0.0006| <0.0006
+ - = A N R (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
N 7 = — k (mg/L)

£ ~ =4 AN Z (mg/L) | <0.000009| <0.000009| <0. 000009| <0. 000009 4| <0.000009| <0. 000009 <0. 000009
v g 7 v = ) (mg/l)

T Y % v 7 = (mg/L)| <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
IV x—k (I L —bk) (mg/L) <0.0002|  <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
U X 7 = v F F > (mg/L)| <0.00002| <0.00002| <0.00002| <0.00002 4| <0.00002| <0.00002| <0.00002
vy 7 F H v 7 (mg/l) <0.0002|  <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
= =4 X =i > (mg/L) <0.0004|  <0.0004| <0.0004| <0.0004 4| <0.0004| <0.0004| <0.0004
7 4 7 =4 = L (mg/L) | <0.000005| <0.000005| <0.000005| <0. 000005 4| <0.000005| <0.000005| <0. 000005
Jrx=bruF F 2 (MEP) (mg/L)| <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
7)) 7 V7 (BPMC) (mg/L) <0.0003|  <0.0003|  <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
7 - Dl N a v (mg/L)

ZJxzrF A (MPP) (mg/L)| <0.00006| <0.00006| <0.00006| <0.00006 4| <0.00006| <0.00006| <0.00006
7z —F(PAP) (mg/L)| <€0.00007| <0.00007| <0.00007| <0.00007 4| <0.00007| <0.00007| <0.00007
7 = v b+ T H I F (mg/L)| <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
- Vi v A F (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0.001 <0.001
7 X 4 o — L (mg/L) <0.0003|  <0.0003|  <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
-7 ol 2 N A (mg/L) <0.0002|  <0.0002| <0.0002| <0.0002 4| <€0.0002| <0.0002|  <0.0002
7 7 v 7 x ¥ v (mg/L) <0.0002| <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
-7 g 7 DA 2 (mg/L) <0.0003| <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
7 v F 7 7 v — L (ng/L) <0.0005| <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
7 n v N F v (mg/L) <0.0009|  <0.0009| <0.0009| <0.0009 4| <0.0009| <0.0009| <0.0009
7 n F F & A (mg/L)

7 o v a F v — )L (mg/L) <0.0005| <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
- =i = N K (mg/L) <0.0005| <0.0005| <0.0005| <0.0005 4] <0.0005| <0.0005| <0.0005
7 a N — L (mg/L) <0.0005|  <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
7 =i Tt - 7 K (mg/L) <0.001 <0.001 <0.001 <0.001 4 <0.001 <0.001 <0.001
~ ) N JL (mg/L) <0.0002|  <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002|  <0.0002
~ v N4 = > (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
~N vy v v 7 o 1a v (ng/L) <0.0009|  <0.0009| <0.0009| <0.0009 4| <0.0009| <0.0009| <0.0009
N ) 7 = w7 (mg/L) | <0.00008| <0.00008| <0.00008| <0.00008 4| <0.00008| <0.00008| <0.00008
~ v v ' v (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
N v T o4 A E U v (mg/l) <0. 003 <0. 003 <0. 003 <0. 003 4 <0.003 <0.003 <0. 003
N v 7 F 4 v 7 (mg/l) <0.0004|  <0.0004| <0.0004| <0.0004 4| <0.0004| <0.0004| <0.0004
X7 ) (RAaY ) (ng/L) <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
~N v 7 L ' — K (mg/L) <0.0007|  <0.0007| <0.0007| <0.0007 4| <0.0007| <0.0007| <0.0007
A A F 7 ¥ — |k (mg/L)| <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
~7F F v (~F Y 2) (ng/L) <0.0005|  <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
Aa7uay 7 (MCPP) (mg/L) <0.0005| <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
A Y 3 JL (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
A H AN (FH — X A ) (mg/L)

A b 7 X > )L (mg/L) <0.0006|  <0.0006| <0.0006| <0.0006 4| <0.0006| <0.0006| <0.0006
AFHEF A (DMTP) (ng/L)| <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
A F L X 4 A v v (ng/L) <0.0003| <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
A FI 7 A b BaE B ¥V (ng/L) <0.0004| <0.0004| <0.0004| <0.0004 4] <0.0004| <0.0004| <0.0004
A k ) -7 P4 > (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003|  <0.0003
A = J+ & v b (mg/L) <0.0002| <0.0002| <0.0002| <0.0002 4] <0.0002| <0.0002| <0.0002
A A =i = JL (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
s D) % — ; (mg/L) | <0.00005| <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
2 o 3| <1 <1 <1 <1 4 <1 <1 <1
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3) BrARKIEAR M SRR KRG kiR K

Bt AGE R ZEM] SRl RS R ia KK (ZD1)

HH /] 4 5 6 7 8 9
54 0 0 0 0 0 0
- ik gl (CFU/ml) | Fe 1 0 0 0 0 0 0
1) 0 0 0 0 0 0
15
K AKX
) - - - - - -
| <0001 <0.001]  <0.001| <0.001| <0.001| <0.001
0w &k O F o b & W (mg/L) | F&IE| <0.001| <0.001| <0.001| <0.001| <0.001| <0.001
SEFY| <0.001|  <0.001|  <0.001| <0.001| <0.001| <0.001
54 <0.03 <0.03 0. 03 <0.03 <0.03 <0.03
% Kk O 2 O b & W (mg/l)|xIK <0.03 <0.03 <0.03 <0.03 <0.03 <0. 03
5 R <0.03 <0.03 <0. 03 <0.03 <0.03 <0.03
el <0.001| <0.001| <0.001| <0.001 0.002| <0.001
v AR OE DS Y (ng/L)|fAK| <0.001| <0.001| <0.001| <0.001| <0.001| <0.001
Ut S| <0.001|  <0.001]  <0.001| <0.001| <0.001| <0.001
e 13.5 16.0 14.7 12.1 15.5 12.9
wot ¥ 4 F v (g/l)|HIK 9.7 12. 4 10. 4 10.3 11.4 10. 4
H A 11.1 14.2 12.2 11.2 13.9 11. 4
i 0.7 0.8 0.8 0.8 0.8 0.8
H & LY (TOC)  (mg/L) | HfE& 0.7 0.7 0.7 0.7 0.7 0.6
H
¥ 0.7 0.8 0.8 0.8 0.8 0.7
o=t 7.62 7.68 7.67 7.67 7.66 7.70
pH il =K 7.53 7.51 7.52 7.52 7.49 7.50
1) 7.56 7.56 7.57 7.58 7.57 7.58
B U BE2 U B U B BEhL| BERL
B ) BERU|BRERU BRERL| BEELL BEALI BAEARL
e <0.5 €0.5 <0.5 €0.5 0.5 €0.5
&, EoO(E) | &I <0.5 0.5 <0.5 0.5 0.5 0.5
S| <0.5 0.5 <0.5 0.5 0.5 €0.5
o=t 0.03 <0.01 <0.01 0.01 0. 04 0. 02
) () | &IK <0.01 <0. 01 <0.01 <0. 01 <0.01 <0. 01
1 <0.01 <0.01 <0.01 <0.01 0.01 <0.01
# I 15 0.75 0. 78 0.79 0. 78 0.79 0. 77
?%J wEooBE % ¥ # (mg/l) | KIK 0. 60 0. 55 0.48 0. 54 0. 49 0.53
: ) 0.70 0. 69 0. 69 0. 70 0. 68 0. 68
fi i 0.81 0.84 0. 84 0.84 0. 86 0.83
,Ei_ B o i) F (mg/L) | I 0. 64 0. 65 0.57 0.61 0.55 0. 59
i* S 0.74 0. 77 0.76 0.76 0.74 0.74
IS B Y % Kno, # & &) (mg/L) 0.9 0.8 0.6 0.8 1.0 0.8
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10 11 12 1 2 3 [E1% 54 AR )
0 0 0 0 0 0
0 0 0 0 0 0 48 0 0 0
0 0 0 0 0 0
48 -
<0.001| <0.001| <0.001| <0.001| <0.001 <0.001
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001 48| <0.001| <0.001| <0.001
<0.001| <0.001| <0.001| <0.001| <0.001 <0.001
<0.03|  <0.03]  <0.03]  <0.03] <0.03] <0.03
<0.03|  <0.03]  <0.03] <0.03] <0.03] <0.03 48| <0.03|  <0.03]  <0.03
<0.03|  <0.03]  <0.03] <0.03] <0.03] <0.03
<0.001| <0.001| <0.001| <0.001| <0.001 <0.001
<0.001| <0.001| <0.001| <0.001| <0.001 <0.001 48| 0.002| <0.001| <0.001
<0.001| <0.001| <0.001| <0.001| <0.001 <0.001
17.9 16.8 16.2 16.3 13.9 14.5
12.9 12.5 15.8 14.9 10.3 13.6 48 17.9 9.7 13.6
14. 6 14.1 16.0 15.6 12. 4 14.0
0.9 0.9 1.0 0.9 7 0.8
0.8 0.8 0.8 0.8 7 0.7 48 1.0 0.6 0.8
0.9 0.9 0.9 0.8 7 0.8
7.65 7.61 7.58 7.57 7.64 7.61
7.50 7.53 7.52 7.51 7.54 7.56 48 7.70 7.49 7.57
7.55 7.56 7.55 7.54 7.57 7.58
B U B U B2 BYR L BEL| Bl 48 HERL
B U BERL| BERL| AR BELL BEALL 48 B L
0.5 0.5 0.5 0.5 0.5 0.5
0.5 0.5 0.5 0.5 0.5 0.5 48 0.5 0.5 0.5
0.5 0.5 0.5 0.5 0.5 0.5
0. 02 0. 02 0.04|  <0.01 0.01 0.01
<0. 01 <0. 01 <0. 01 <0. 01 <0. 01 <0. 01 48 0.04|  <0.01 <0. 01
<0. 01 <0. 01 0.01 <0. 01 <0. 01 <0. 01
0.75 0.78 0.79 0. 80 0. 81 0.81
0. 56 0. 52 0. 56 0. 62 0. 68 0.67 48 0.81 0. 48 0.71
0. 67 0.70 0.72 0.74 0.75 0.76
0. 80 0.84 0. 86 0. 86 0. 84 0. 88
0. 61 0. 58 0. 63 0. 69 0.74 0.72 48 0. 88 0. 55 0.77
0.72 0.76 0.79 0. 80 0. 80 0.81
0.9 0.9 1.1 1.2 0.9 0.9 12 1.2 0.6 0.9
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Bt ACE AR M SRR K RifaKEEAK (2D 2)

HE / 4 5 6 7 8 9
i 16. 6 23.3 25.9 28.6 31.5 26.9
7K B (O |&KK 14.8 20.9 21.8 24.3 27.9 25. 4
RIS 15.7 22.0 24. 0 26. 2 30. 4 26. 2
i 32.3 35.6 34.0 33.2 35.9 35.3
7 iz 7 j B (mg/L) | i 28.0 31.6 29.9 32.2 33.4 32.2
St 30. 4 33.8 31.8 32.6 34. 8 33.5
| E (mg/L) 1.7 1.6 1.2 1 1.2 1.
il [i73 f& = # (mg/L) 0. 94 1.04 0.71 0.58 0.77 0.56
it i3 A i > (mg/L) 17.1 20. 4 17.7 16.3 25.0 17.2
Bely 0 o » & m E (/) 29 34 29 o7 33 25
~ 7 %X ¥ v A ® JE (ng/L) 7 9 8 7 8 7
IH B 15.8 18.5 17.7 15.9 19. 4 16. 4
CE S U B . (mS/m) | Flk 14. 2 16. 8 14.9 15.1 16.9 15.0
¥ 14.9 17.6 15.7 15. 4 18.6 15.6
. s 7 i3 F# (mg/L) 10.6 9.0 9.2 9.1 8.0 8.7
M| 0.032)  0.038)  0.036]  0.034|  0.032]  0.033
%4 B Om ok B & 0.030]  0.030] 0.027| 0.025| 0.026] 0.021
SE¥I[ 0,031 0.035]  0.031)  0.030|  0.030|  0.029
e H WA v S W E (mg/l) 0. 052 0. 053 0. 056 0. 024 0. 068 0. 054
WO 9RO (O ) (mg/L) <0.001] <0.001| <0.001| <0.001| <0.001| <0.001
7Y s AR Y T U A (E/2o) 0 0

96




10 11 12 1 2 3 %4 =311 4159 R
23.5 19.5 15.8 11.9 12.0 13.2
21.6 18.0 12.1 10. 1 8.5 9.3 48 31.5 8.5 19.4
22.8 18.7 14. 4 10.8 10. 0 12.0
40. 6 36. 6 37.6 35. 4 33.7 34.8
34.6 34.8 35.7 34.2 26. 0 32. 4 48 40. 6 26. 0 33.6
36. 6 35.5 36. 6 34.9 29. 8 33.6
1.2 2.2 1.6 2.5 1.9 2.2 12 2.5 1.2 1.7
1. 08 1. 30 1.23 1.15 0.81 0.95 12 1. 30 0. 56 0.93
20. 4 19.8 22.8 19.9 17.8 18.5 12 25.0 16.3 19.4
32 33 36 32 28 31 12 36 25 31
9 9 10 9 8 9 12 10 7 8
20.5 19.6 20.3 19.1 16.6 17.1
17.2 17.6 19. 4 18.0 14. 0 16.5 48 20.5 14.0 17.1
18. 4 18.6 19.7 18.4 15.6 16.7
9.3 9.9 11.7 12.8 13.0 11.2 12 13.0 8.0 10. 2
0.036| 0.036] 0.042|  0.037| 0.030| 0.033
0.031| 0.032| 0.036| 0.032| 0.027| 0.024 48/ 0.042]  0.021  0.032
0.034| 0.034| 0.038/  0.035 0.028/  0.028
0.057|  0.053|  0.060| 0.059| 0.042|  0.041 12| 0.068|  0.024|  0.052
<0.001| <0.001| <0.001| 0.001| <0.001| <0.001 12| 0.001| <0.001| <0.001
0 0 4 0 0 0
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PR AGE 7B 3E R JEIRE K REGAKIEK (2D 3)
A

A 4 5 6 7 8 9
BRI AR OYZEDOIAEY (ng/L) <0.0003|  <0.0003| <0.0003| <0.0003| <0.0003| <0.0003
K Kk O F O b A W (mg/L) | <0.00005| <0.00005| <0.00005| <0.00005| <0.00005| <0.00005
t L v Kk O ZE O b A W (mg/l) <0. 001 <0. 001 <0.001 <0. 001 <0. 001 <0. 001
b #F kK O O b & W (/L) <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
N 7o ove A b A W (mg/L) <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005
i il 123 T %= F# (mg/L) <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004
T A F RO ALY T v (mg/L) <0. 001 <0.001 <0. 001 <0.001 <0. 001 <0.001
Y ERRE I HE N OVAL AN MR RE EFE (mg/L) 0.94 1.04 0.71 0.58 0.77 0.56
7 v #F M T Ot A W (mg/l) 0.09 0.10 0.11 0.11 0.10 0.11
v F K O ZE 0 /LA W g/l <0.1 0.1 0.1 0.1 0.1 0.1
| H 1t R % (mg/L) <0.0002| <0.0002| <0.0002| <0.0002| <0.0002| <0.0002
L4 — ¥ & X ¥ v (mg/L) <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005
ié?lf i,f-/{yuf/ufflv; f 9 (mg/L) <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004
v 7 = = A 2 v (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002

e % 7 m oo x F L > (mg/l) <0. 001 <0.001 <0. 001 <0.001 <0. 001 <0.001
kU 7 B v = F L v (mg/L) <0. 001 <0. 001 <0.001 <0. 001 <0. 001 <0. 001
~ N € > (mg/L) <0. 001 <0.001 <0. 001 <0.001 <0. 001 <0.001

He | B g (mg/L) <0. 06 <0. 06 0. 06 <0. 06 0. 06 0. 06
Va = = e /% (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
7 = = 7 L 2 (mg/L) 0. 004 0.003 0. 004 0. 006 0. 009 0. 006

w5 ¥ Vi = = 5 e (mg/L) <0.003 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003

v r® s mor A & v (mg/l) 0. 005 0. 004 0.003 0.003 0. 007 0.003
R # e (mg/L) <0. 001 0.002 <0. 001 0.002 0.003 0. 002
w0 U N o w A & v (mg/L) 0.015 0.012 0.011 0.014 0. 027 0.014

HIk ] v =t = BE B (mg/L) <0. 003 <0. 003 <0. 003 <0. 003 <0.003 <0. 003
7 m T Y 7 v ou A % v (ng/L) 0. 005 0. 004 0. 004 0. 005 0.010 0. 005
7 =] = N IV 2 (mg/L) 0.001 0.001 <0.001 <0. 001 0.001 <0. 001
A A A T A F b F (mg/L) <0. 008 <0. 008 <0. 008 <0. 008 <0. 008 <0. 008
o & v o b A W (ng/L) 0.1 0.1 0.1 0.1 0.1 0.1
TNI=0U LKk OZoEW (ng/l) 0. 02 0.03 0.03 0.03 0. 04 0.03
g Kk O F o 4 A& W (ng/L) <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
FrF U YA ONEDONAE YW (ng/L) 12.6 16. 4 11.8 12.1 16.0 13.2
AN T AT xT T NEEE) (ng/L) 36 43 37 34 41 32
3 i 7% H 4 (mg/L) 86 92 89 77 106 81
k2 4 A4 v R/ om o3& M Al (mg/L) <0. 02 <0.02 0. 02 <0.02 0. 02 <0.02
v - + s 2 > (ng/L) <1 <1 <1 <1 <1 <1
2- A F ) A4 YV R )L R F — b (ng/L) <1 <1 <1 <1 <1 <1
FE A4 A v Fom M Al (mg/L) <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005
7 - J — L o (mg/L) <0.0005| <0.0005| <0.0005| <0.0005| <0.0005| <0.0005
TryF U REOZEONAEY (ng/l) <0. 002 <0. 002
77 o kY ZE oA W (mg/l) <0. 0002 <0. 0002
= v F N Kk RN E OIS Y (mg/L) <0. 002 <0. 002
L,2- ¥ 7 v m =x= % Vv (mg/L) <0. 0004 <0. 0004
~ IV - > (mg/L) <0. 04 <0. 04

El7EABY - F L ~F L) (mg/L) <0. 008 <0. 008

H i # i (mg/L) <0. 06 <0. 06

HID 7 oo 7 £ F = F U 1 (mg/l) <0.001 <0.001

ziﬁ Ko7 o 7 — 5 (mg/L) <0. 002 <0. 002

e [ # # <1 <1

1 | e o g (mg/L) 1.5 1.4 1.1 1.2 1.1 1.6

Bil,,1- v UV 7 v v = % v (mg/l) <0.03 <0.03
A F N -t-F F )= —F )L (\MBE) (mg/L) <0. 002 <0. 002
B = G Jii5 (TON) 1 1 1 1 1 1
7 VA 7 " -1.3 -1.3 -1.4 -1.3 -1.0 -1.4
1 B ES = il (CFU/m1) 0 0
L1 — Y 7 o v = F L v (mg/l) <0.01 <0.01
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10 11 12 1 2 3 [E14 e 53l Q&)
<0.0003|  <0.0003| <0.0003| <0.0003| <0.0003|  <0.0003 12| <0.0003| <0.0003| <0.0003
<0.00005| <0.00005| <0.00005| <0.00005| <0.00005| <0.00005 12| <0.00005| <0.00005| <0.00005
<0. 001 <0. 001 <0. 001 <0.001 <0. 001 <0.001 12 <0.001 <0. 001 <0.001
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001
<0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 12 <0. 005 <0. 005 <0. 005
<0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 12 <0. 004 <0. 004 <0. 004
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 <0.001 <0. 001 <0.001
1.08 1.30 1.23 1.15 0.81 0.95 12 1.30 0.56 0.93
0. 08 <€0.08 0. 09 0. 08 <0. 08 <0. 08 12 0.11 <0.08 <0. 08
0.1 <0. 1 0.1 <0. 1 0.1 <0.1 12 <0.1 0.1 <0.1
<0.0002| <0.0002| <0.0002| <0.0002| <0.0002| <0.0002 12| <0.0002| <0.0002| <0.0002
<0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 12 <0. 005 <0. 005 <0. 005
<0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 12 <0. 004 <0. 004 <0. 004
<0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 12 <0. 002 <0. 002 <0. 002
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 <0.001 <0. 001 <0.001
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001
<0. 001 <€0. 001 <0. 001 <0. 001 <0. 001 <0.001 12 <0.001 <0. 001 <0.001
<0. 06 <0. 06 <0. 06 <0. 06 <0. 06 <0. 06 12 0. 06 <0. 06 <0. 06
<0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 12 <0. 002 <0. 002 <0. 002
0. 004 0. 002 0. 004 0. 002 0.001 0. 002 12 0. 009 0.001 0. 004
<0. 003 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003 12 <0. 003 <0. 003 <0. 003
0. 004 0. 004 0. 005 0.003 0.001 0.003 12 0. 007 0.001 0. 004
0. 002 0.001 <0. 001 <0. 001 <0. 001 <0. 001 12 0. 003 <0. 001 0.001
0.014 0. 009 0.016 0. 009 0.003 0. 007 12 0.027 0.003 0.013
<0. 003 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003 12 <0. 003 <0. 003 <0. 003
0. 005 0.003 0. 005 0.003 0.001 0. 002 12 0.010 0.001 0. 004
0.001 <0. 001 0. 002 0.001 <0. 001 <0. 001 12 0. 002 <0. 001 <0. 001
<0. 008 <0. 008 <0. 008 <0. 008 <0. 008 <0. 008 12 <0. 008 <0. 008 <0. 008
0.1 0.1 0.1 0.1 0.1 0.1 12 0.1 0.1 0.1
0.03 0.02 0. 02 0.02 0.01 0.02 12 0. 04 0.01 0. 02
0.1 0.1 0.1 0.1 0.1 0.1 12 0.1 0.1 0.1
16.0 15.4 17.5 16.2 13. 1 14.7 12 17.5 11.8 14.6
41 42 46 41 36 40 12 46 32 39
112 118 126 92 104 98 12 126 77 98
<0. 02 <0. 02 <0. 02 <0. 02 <0. 02 <0. 02 12 <0. 02 0. 02 <0. 02
<1 <1 <1 <1 <1 <1 12 <1 <1 <1
<1 <1 <1 <1 <1 <1 12 <1 <1 <1
<0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 12 <0. 005 <0. 005 <0. 005
<0.0005| <0.0005| <0.0005| <0.0005| <0.0005| <0.0005 12| <0.0005| <0.0005| <0.0005
<0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
<0. 0002 <0. 0002 4] <0.0002| <0.0002|  <0.0002
<0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
<0. 0004 <0. 0004 4| <0.0004| <0.0004| <0.0004
<0.04 <0.04 4 <0. 04 0. 04 <0. 04
<0. 008 <0. 008 4 <0. 008 <0. 008 <0. 008
<0. 06 <0. 06 4 <0. 06 <0. 06 <0. 06
<0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
<0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
<1 <1 4 <1 <1 <1
1.1 1.9 1.4 2.2 1.7 1.9 12 2.2 1.1 1.5
<0.03 <0.03 4 <0.03 <0.03 <0.03
<0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
1 1 1 1 1 1 12 1 1 1
-1.3 -1.3 -1.2 -1.4 -1.6 -1.4 12 -1.0 -1.6 -1.3
0 0 4 0 0 0
<0.01 <0.01 4 <0.01 <0.01 <0.01
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i SR e SN RE S

Yo tia/Kie K (Z0D4) i

5 7 10 2 [a]%% B AR ¥

HAH

1,3—Y7un7ua~X (D—D) (mg/L) <0.0005|  <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
22 —DPA (X ZK) (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0.001 <0.001 <0.001
24 — D (24 — P A ) (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
E P N (mg/L) | <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
M C P A (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
T v o = 2 (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
7 - = - — K (mg/L) <0.0008| <0.0008| <0.0008| <0.0008 4| <0.0008| <0.0008| <0.0008
7 ]\ v D% v (mg/L) <0.0001| <0.0001| <0.0001| <0.0001 4] <0.0001| <0.0001| <0.0001
7 = =4 iR 2 (mg/L) | <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
7 N b~ 7 A (mg/L)

7 = V4 o — JL (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
A4 Y X ¥ F  F > (mg/L)| <0.00008| <0.00008| <0.00008| <0.00008 4| <0.00008| <0.00008| <0.00008
A4 Y 7 = ¥ & A (mg/L)| <0.00001| <0.00001| <0.00001| <0.00001 4| <0.00001| <0.00001| <0.00001
A4y 7uaHBH 7 (MIPC) (mg/L) <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
Ay 7uaF A7 (IPT) (mg/L) <0.003 <0. 003 <0. 003 <0. 003 4 <0. 003 <0. 003 <0. 003
A 7N KRAXA(IBP) (mg/l) <0.0009|  <0.0009| <0.0009| <0.0009 4| <0.0009| <0.0009| <0.0009
A4 X J 7 X v v (ng/L) <0.001 <0.001 <0.001 <0.001 4 <0.001 <0.001 <0.001
A4 v X 7 7 7 v (mg/L)| <0.00009| <0.00009| <0.00009| <0.00009 4| <0.00009| <0.00009| <0.00009
— 2 7 v H ) 7 (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
TF 4T = AR (=Y T =R A EDDP) (mg/L) | <0.00006| <0.00006| <0.00006| <0.00006 4| <0.00006| <0.00006| <0.00006
B 7 = v 7 v v 7 A (ng/L) <0.0008|  <0.0008| <0.0008| <0.0008 4| <0.0008| <0.0008|  <0.0008
TR TY = (mraxy—u) (ng/L) | <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
T RANLNT 7o (R ) (ng/L) <0.0001| <0.0001| <0.0001| <0.0001 4 <0.0001| <0.0001| <0.0001
F % % 2 7 g X K v (mg/L) <0.0002| <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
T X 8 (F M H) (mg/L)| <0.0004] <0.0004| <0.0004| <0.0004 4| <0.0004| <0.0004| <0.0004
Uy % 2 F v v v (ng/l) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
71 z B 7N Z (mg/L) | <0.00006| <0.00006| <0.00006| <0.00006 4| <0.00006| <0.00006| <0.00006
B 7 = v A k7 — b (mg/L)| <0.00008| <0.00008| <0.00008| <0.00008 4| <0.00008| <0.00008| <0.00008
Vi % v 4 7 (mg/L)

SNy (N A C)  (mg/L) <0.0005| <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
v 7 v X I K (mg/L) <0.0004| <0.0004| <0.0004| <0.0004 4| <0.0004| <0.0004| <0.0004
71 Jb R 7 = > (mg/L) | <0.00005| <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
¥ /27 732 (A CN ) (mg/L)| <0.00005| <0.00005 <0.00005 <0.00005 4| <0.00005| <0.00005| <0.00005
X Y - b > (mg/L) <0. 003 <0. 003 <0. 003 <0. 003 4 <0.003 <0. 003 <0. 003
7 N JL =4 > (mg/L) <0.0003|  <0.0003|  <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
7 ) R A — ~ (mg/L) <0. 02 <0. 02 <0. 02 <0. 02 4 <0. 02 <0. 02 <0. 02
J v Ak ¥ x — b (mg/L)

7 o owa X 7 v v 7 (mg/L) <0.0002|  <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002|  <0.0002
su)r=ra 7=z (CNP) (mg/L) <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
7 oowm b v U A A (mg/L)| <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
souXua=,)L(TPN) (mglL) <0.0005|  <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
v 7 -+ D% > (mg/L) | <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
7 J KR A (CY AP ) (mg/L)| <0.00003 <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
v ey (DCMU) (mglL) <0.0002|  <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002|  <0.0002
7 ur~X=,L (DBN) (mglL) <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
ru )R A (DDVP) (mg/L)| <0.00008| <0.00008| <0.00008| <0.00008 4| <0.00008| <0.00008| <0.00008
D4 7 7 4 k (mg/L) <0. 001 <0. 001 <0. 001 <0.001 4 <0. 001 <0. 001 <0. 001
D ZNVIRR Y (mF I F A ARY)  (mg/L) | <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
P4 + 7 J > (mg/L)

CFA I N AN A=FFREIK (ng/l)

DX I 7 =4 JL (mg/L) | <0.00009| <0.00009| <0.00009| <0.00009 4| <0.00009| <0.00009| <0.00009
o nm R v 7 F b (mg/L) | <0.00006| <0.00006| <0.00006| <0.00006 4| <0.00006| <0.00006| <0.00006
v v v (C A T ) (mg/L)| <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
Y A X A b U v (mg/L) <0.0002| <0.0002| <0.0002| <0.0002 4| <€0.0002| <0.0002|  <0.0002
R 8 T — ~ (mg/L) <0.0005| <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
v A I ) v (mg/L) <0.0003| <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003|  <0.0003
Y X ¥ L — k (mg/L)| <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
X A 7 ) > (mg/L) | <0.00005| <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
vd A VN =i v (mg/L) <0. 008 <0. 008 <0. 008 <0. 008 4 <0. 008 <0. 008 <0. 008
vl 4 A > b (mg/L)

Ea 7 D% = JL (mg/L) <0.001 <0.001 <0.001 <0. 001 4 <0. 001 <0. 001 <0. 001
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A

A 5 7 10 2 3 4] 5 4liS T

HH

¥ % 7 2 (mg/L) <0. 0002 <0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002
F A+ ¥ B v T (mg/L) <0. 0008 <0. 0008 <0. 0008 <0. 0008 4 <0. 0008 <0. 0008 <0. 0008
F A7 7 32— FAF N (mg/l) <0.003 <0. 003 <0.003 <0. 003 4 <0.003 <0.003 <0.003
F & X v H v T (mg/L) <0. 0002 <0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002
TNT N7 (MBPMC) (mg/L) <€0. 0002 <0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002
[N D) 7 = v L (mg/L) <0.00006|  <0.00006| <0.00006| <0.00006 4| <0.00006| <0.00006| <0.00006
Y27k (DEP) (ng/L) <0.00005|  <0.00005|  <0.00005|  <0.00005 4| <0.00005|  <0.00005|  <0.00005
Y v s 7 v — v (mg/L) <0. 0008 <0. 0008 <0. 0008 <0. 0008 4 <0. 0008 <0. 0008 <0. 0008
U Z v Z U v (mg/L) <0. 0006 <0. 0006 <0. 0006 <0. 0006 4 <0. 0006 <0. 0006 <0. 0006
7 A = A 3 K (mg/L) <0. 0003 <0. 0003 <0. 0003 <0. 0003 4 <0. 0003 <0. 0003 <0. 0003
2 = = — k (mg/L)

| ~ o N 2 (mg/L) | <0.000009| <0.000009| <0.000009| <0.000009 4| <0.000009| <0.000009| <0.000009
v g 7 = = J (mg/L)

v 7 v % v 7 = v (ng/L) <0.00004|  <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004|  <0.00004
7YX —kF (EFVL—bF) (ng/L) <0. 0002 <0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002
vy X 7 = F 4 v (ng/L) <0.00002|  <0.00002| <0.00002| <0.00002 4| <€0.00002|  <0.00002|  <0.00002
vy 7 F A v T (mg/l) <0. 0002 <0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002
| o X o > (mg/L) <0. 0004 <0. 0004 <0. 0004 <0. 0004 4 <0. 0004 <0. 0004 <0. 0004
7 4 7 n = Jb (mg/L) | <0.000005| <0.000005| <0.000005| <0.000005 4| <0.000005| <0.000005| <0.000005
ZJx=huaF A (MEP) (mg/L) <0.00003|  <0.00003|  <0.00003| <0.00003 4| <0.00003|  <0.00003| <0.00003
Z7x/)7 N7 (BPMC) (mg/L) <0. 0003 <0. 0003 <0. 0003 <0. 0003 4 <0. 0003 <0. 0003 <0. 0003
7 - ) N ' > (mg/L)

72 F 4 (MPP) (mg/L) <0.00006|  <0.00006| <0.00006| <0.00006 4| <0.00006| <0.00006| <0.00006
7z bhbx—F(PAP) (mg/lL) <0.00007|  <0.00007| <0.00007|  <0.00007 4| <€0.00007|  <0.00007|  <0.00007
7 = v b 7 ¥ I F (mg/L) <0.0001 <0. 0001 <0.0001 <0. 0001 4 <0. 0001 <0. 0001 <0. 0001
= VA 7 A K (mg/L) <0.001 <0. 001 <0.001 <0. 001 4 <0.001 <0. 001 <0. 001
7 X U o — JL (mg/L) <0. 0003 <0. 0003 <0. 0003 <0. 0003 4 <0. 0003 <0. 0003 <0. 0003
- i =) 7R 2 (mg/L) <0. 0002 <0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002
7 7 v 7 = ¥ v (ng/l) <0. 0002 <0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002
7 v 7 Y F A (ng/L) <0. 0003 <0. 0003 <0. 0003 <0. 0003 4 <0. 0003 <0. 0003 <0. 0003
7 v F T 7 v — J (mg/L) <0. 0005 <0. 0005 <0. 0005 <0. 0005 4 <0. 0005 <0. 0005 <0. 0005
7 nu v 2 F v (mg/L) <0. 0009 <0. 0009 <0. 0009 <0. 0009 4 <0. 0009 <0. 0009 <0. 0009
7 v F F &K A (mg/l)

7 v ¥ o 5 v — )b (mg/L) <0. 0005 <0. 0005 <0. 0005 <0. 0005 4 <0. 0005 <0. 0005 <0. 0005
v =4 | N K (mg/L) <0. 0005 <0. 0005 <0. 0005 <0. 0005 4 <0. 0005 <0. 0005 <0. 0005
7 v X ) — ) (mg/L) <0. 0005 <0. 0005 <0. 0005 <0. 0005 4 <0. 0005 <0. 0005 <0. 0005
7 =4 £ -7 ¥ R (mg/L) <0.001 <0. 001 <0.001 <0. 001 4 <0.001 <0.001 <0. 001
~ J =) L (mg/L) <0. 0002 <0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002
~N v o v (mg/L) <0.001 <0. 001 <0.001 <0. 001 4 <0.001 <0.001 <0. 001
N vy v v 7 v v (ng/L) <0. 0009 <0. 0009 <0. 0009 <0. 0009 4 <0. 0009 <0. 0009 <0. 0009
N v Y 7 = F vy 7 (mg/l) <0.00008|  <0.00008| <0.00008|  <0.00008 4| <0.00008| <0.00008|  <0.00008
~ v A ) > (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
N T 4 A H Y v (mg/L) <0.003 <0. 003 <0.003 <0. 003 4 <0.003 <0.003 <0.003
N v 7 F H v T (mg/l) <0. 0004 <0. 0004 <0. 0004 <0. 0004 4 <0. 0004 <0. 0004 <0. 0004
RN Z) 0 (R2AaY ) (ng/L) <0. 0001 <0. 0001 <0. 0001 <0. 0001 4 <0. 0001 <0. 0001 <0. 0001
~N v 7 L v — b (mg/L) <0. 0007 <0. 0007 <0. 0007 <0. 0007 4 <0. 0007 <0. 0007 <0. 0007
A A F 7T ¥ —  (ng/) <0.00003|  <0.00003|  <0.00003| <0.00003 4| <0.00003|  <0.00003|  <0.00003
~TF v (~F V) g/l <0. 0005 <0. 0005 <0. 0005 <0. 0005 4 <0. 0005 <0. 0005 <0. 0005
Aa vy 7 (MCPP) (ng/L) <0. 0005 <0. 0005 <0. 0005 <0. 0005 4 <0. 0005 <0. 0005 <0. 0005
A Y 2 JL (mg/L) <0. 0003 <0. 0003 <0. 0003 <0. 0003 4 <0. 0003 <0. 0003 <0. 0003
A H AN (H — N A ) (mg/l)

Az 7 % > Jb (mg/L) <0. 0006 <0. 0006 <0. 0006 <0. 0006 4 <0. 0006 <0. 0006 <0. 0006
AFHEF 4 (DMTP) (mg/L) <0.00004|  <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004|  <0.00004
A F L KX A4 A 1 v (mg/L) <0. 0003 <0. 0003 <0. 0003 <0. 0003 4 <0. 0003 <0. 0003 <0. 0003
A I J A F v v v (mg/l) <0. 0004 <0. 0004 <0. 0004 <0. 0004 4 <0. 0004 <0. 0004 <0. 0004
A k Pj 7 D4 > (mg/L) <0. 0003 <0. 0003 <0. 0003 <0. 0003 4 <0. 0003 <0. 0003 <0. 0003
A 7 = F T v b (ng/l) <0. 0002 <0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002
R A = = JU (mg/L) <0.001 <0. 001 <0.001 <0. 001 4 <0.001 <0.001 <0.001
£ ) i — ~ (mg/L) <0.00005|  <0.00005| <0.00005| <0.00005 4| <€0.00005| <0.00005| <0.00005
2 E-d £8 <1 <1 <1 <1 4 <1 <1 <1
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4) BerhAEAE3E $E4 ) KRG KRR
Bt AE AR R SR K S RifaAKER K (ZD1)

K A 4 5 6 7 8 9
4] 0 0 0
- i gl (CFU/mD) | B 0 0 0 0 0 0
DA 0 0 0
b3
N AR
¥ - - - - - -
S a 0.003 0. 005 0. 006 0. 006 0.011 0. 007
i Kk O o b A& W (mg/L) &Ml <0.001] <0.001| <0.001| <0.001| <0.001| <0.001
I <0.001 0. 001 0. 001 0. 001 0.002|  0.002
e <0.03|  <0.03| <0.03]  <0.03 <0.03|  <0.03
B Kk O 0o b & % (mg/L)| &K <0.03 <0. 03 <0. 03 <0. 03 <0.03 <0. 03
3t Sl <0.03| <0.03|  <0.03]  <0.03 <0.03|  <0.03
| <0.001| <0.001| <0.001| <0.001| <0.001| <0.001
~ RO E DAY (ng/L) | &&| <0.001| <0.001| <0.001| <0.001| <0.001| <0.001
%k Y| <0.0010  <€0.001| <0.001 <0.001| <0.001| <0.001
i 13.9 15.6 15.3 12.2 15.5 13.0
#7oik ¥ 4 A v (g/l)|HKIK 11.1 11.3 10.6 10.3 10.5 9.8
! ¥ 12. 4 13.6 12.2 11.6 12.9 11.6
i 0.7 0.8 0.8 0.8 0.8 0.7
H B LY (ToC)  (mg/L) | fefk 0.6 0.6 0.5 0.5 0.5 0.5
H T 0.6 0.7 0.6 0.6 0.6 0.6
5] 7.58 7.57 7.58 7.61 7.62 7.63
pH & A% 7.51 7.49 7.47 7.50 7.48 7.54
N3] 7.54 7. 54 7.54 7.56 7.56 7.57
B U BER U BES2U BERL|BERL BRELL
B = BERAU|BERAUIEERLU B L | BER L BERL
a ] 0.5 <0.5 0.7 <0.5 0.5 <0.5
=) () I 0.5 0.5 <0.5 0.5 <0.5 0.5
] 0.5 <0.5 <0.5 <0.5 0.5 <0.5
4] 0.03 0.03 0.03 0. 02 0.03 0.01
) () I <0. 01 <0.01 <0.01 <0.01 <0.01 <0.01
N3] 0.01 <0. 01 <0. 01 <0. 01 <0. 01 <0. 01
" Sa] 0.77 0.72 0.75 0. 74 0.73 0.79
Bl OEE R OB O F (ng/l) | HIE 0.63 0.50 0. 46 0.50 0.44 0.50
A S 0. 68 0.61 0. 62 0.63 0. 60 0. 64
I%; Sa] 0.81 0.78 0. 80 0. 80 0. 80 0. 84
?,_; V53 B i F (mg/L) | HIK 0. 67 0.59 0.53 0. 54 0.51 0. 54
% S 0.72 0. 68 0. 69 0. 68 0. 66 0. 68
I
N T (KMnO, ¥4 # & ) (mg/L) 0.9 0.5 0.9 0.5 0.7 0.5
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10 11 12 1 2 3 EIE=q )

bl
iy
A
B

96 -

0. 007 0. 004 0.003 0. 005 0. 005 0.002
<0.001| <0.001| <0.001] <0.001| <0.001 <0.001 96 0.011| <0.001| <0.001
0. 002 0.001| <0.001 0.001| <0.001] <0.001

0. 04 0. 04 <0.03 <0.03 <0.03 <0.03
<0.03 <0.03 <0. 03 <0.03 <0. 03 <0.03 96 0.04 <0. 03 <0.03
<0. 03 <0.03 <0.03 <0.03 <0.03 <0.03

<0.001 0.001 0. 001 0.001| <0.001 0. 001

<0.001| <0.001 <0.001| <0.001| <0.001| <0.001 96|  0.001| <0.001| <0.001
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001
17.7 16. 6 16. 7 17.6 14. 4 15.6
12.1 12.0 11.6 15.0 9.5 13.0 96 17.7 9.5 13.5
15. 4 14.6 14. 4 16.3 12.5 14.3
0.8 0.9 1.0 0.9 0.9 0.8
0.7 0.7 0.7 0.7 0.7 0.6 96 1.0 0.5 0.7
0.7 0.8 0.8 0.8 0.8 0.8
7.59 7.57 7.61 7.63 7. 60 7.66
7.50 7.50 7.48 7.50 7.52 7.53 96 7.66 7.47 7.55
7.55 7.54 7.54 7.56 7.56 7.58
B U BELR LU BE2L BER L BRERL BRERL 96 L
BER U BER2U BEALU BEEAR L BE QL BEERL 96 LY 2/
0.5 0.6 0.5 0.5 <0.5 0.5
0.5 <0.5 0.5 <0.5 0.5 <0.5 96 0.7 0.5 <0.5

<0.5 <0.5 <0.5 <0.5 <0.5 <0.5

<0.01 0.02 0.02 0.02 0.02 0.02

<0.01 <0.01 <0.01 <0.01 <0.01 <0.01 96 0.03 <0.01 <0.01
<0.01 <0. 01 <0.01 <0.01 <0.01 <0.01
0.79 0.83 0.77 0.75 0. 80 0.74
0.47 0.39 0.52 0.52 0.62 0. 60 96 0.83 0.39 0.64
0. 62 0.61 0. 66 0. 64 0.70 0. 66
0.85 0.88 0. 82 0. 80 0. 86 0.80
0.54 0. 48 0.60 0.63 0.67 0. 66 96 0. 88 0. 48 0.70

0.68 0.68 0.73 0.71 0.76 0.72

0.9 0.9 0.8 1.2 0.9 0.9 12 1.2 0.5 0.8
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Bt AE AR A ) TR Rita KK (2D 2)

HE / 4 5 6 7 8 9
i 16.0 23.3 26.0 28. 4 31.4 29. 1
7K B (O |&KK 13.8 20.3 22.7 23.7 28.5 24.6
Tty 14.6 21.8 24.5 25. 6 29.8 26. 0
i 33.2 39.2 36. 1 35.6 39.2 36.6
7 iz 7 j B (mg/L) | i 30.6 29. 8 30. 1 30.0 32.4 31.1
St 31.9 33.1 32.0 31.6 34. 2 33.3
| E (mg/L) 2.1 1.8 1.2 1.5 1.1 1.6
il [i73 f& = # (mg/L) 0. 90 1.02 0. 84 0.61 0.83 0.79
it %3 A i > (mg/L) 18. 1 21.3 18.4 17.1 23.5 18.7
Bely 0 o » & m E (/) 29 34 31 27 30 26
~ 7 %X ¥ v A ® JE (ng/L) 8 9 9 7 8 7
IH B 16.6 19. 4 17.6 16.5 20.0 17.2
CE S U B . (mS/m) | Flk 15.1 16. 2 15.1 15.0 16.0 15.0
¥ 15.9 17. 4 16.2 15. 6 17.8 15.7
. s 7 i3 F# (mg/L) 10. 4 6.8 9.1 8.4 7.3 7.9
M| 0.030)  0.036]  0.038)  0.033]  0.030]  0.029
%4 B Om ok B & 0.022)  0.026] 0.021| 0.017| 0.018]  0.018
SEg| 0 0.024)  0.028|  0.028)  0.022]  0.025/  0.022
e H WA v S W E (mg/l) 0. 045 0. 053 0.054|  0.040 0. 041 0. 052
WO 9RO (O ) (mg/L) <0.001] <0.001| <0.001| <0.001| <0.001| <0.001
7Y s AR Y T U A (E/2o) 0 0
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10 11 12 1 2 3 %4 =311 4159 R
23.6 20. 0 16.0 12.1 12.2 13.4
20. 2 18.0 12.9 7.6 9.4 10. 8 96 31. 4 7.6 19.3
21.9 19.3 15.1 10.7 10. 2 12.0
41.6 40. 6 38.2 36. 3 35.0 36. 7
33.8 35.3 32.6 34.5 25.9 32.1 96 41.6 25.9 33.8
37.6 36. 8 35.1 35. 4 31.0 33.8
1.2 2.2 1.7 2.1 2.1 2.5 12 2.5 1.1 1.8
1. 09 1.21 1.26 1.21 0.79 0.96 12 1.26 0.61 0.96
20. 6 20.9 21.8 20. 1 18.4 19.6 12 23.5 17.1 19.9
32 32 35 33 28 31 12 35 26 31
9 9 11 9 8 9 12 11 7 9
20.5 20. 0 20. 2 19.9 17.2 18.1
17. 4 17.7 17.2 18.0 14. 0 16.3 96 20.5 14.0 17.3
19. 4 19.0 18.7 19.0 15.9 17.2
8.9 9.3 11.0 11.8 12. 4 10.6 12 12.4 6.8 9.5
0.029|  0.045| 0.036| 0.037| 0.031| 0.034
0.018/  0.026| 0.027| 0.030, 0.027|  0.022 96/  0.045| 0.017,  0.027
0.022|  0.031] 0.033]  0.033] 0.029/ 0.029
0.051|  0.043|  0.050|  0.057| 0.050|  0.054 12| 0.057|  0.040|  0.049
<0.001| <0.001| <0.001| 0.001| <0.001| <0.001 12| 0.001| <0.001| <0.001
0 0 4 0 0 0
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Bt ACGE AR S EA K Rita KiK. (2D 3)
A

HH 4 5 6 7 8 9
B KI T LAEOEDOAAEYW (mg/L) <0.0003| <0.0003| <0.0003| <0.0003| <0.0003| <0.0003
KO K O F O b A& W (mg/L)| <0.00005| <0.00005| <0.00005| <0.00005| <0.00005| <0.00005
L v kO E O AE W (mg/l) <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0.001
t #F Kk O o I A W (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
N oMo 7 o om oA b A& ¥ (mg/l) <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005
i i 73 15 = # (mg/L) <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004
v T vk A Ay RO ALY T v (mg/L) <0.001 <0. 001 <0.001 <0. 001 <0.001 <0.001
Y e RE 2 R K& OV R RE 2= £ (mg/L) 0.90 1.02 0.84 0.61 0.83 0.79
7 v #F kK X ZE 0t A W (mg/l) <0.08 0. 09 0.11 0.11 0. 10 0.11
v #F K X ZET O A W (ng/l) <0.1 <0.1 €0.1 <0.1 <0. 1 €0.1
| i 1k 7 F# (mg/L) <0.0002|  <0.0002| <0.0002| <0.0002| <0.0002| <0.0002
L4 — v & X H v (ng/l) <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005
CEIUMEL YRR E S BT e/ <0.001]  <0.004]  <0.004)  <0.004]  <0.004|  <0.004
v o7 = o A % v (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002

#* F N 5 7 w oo = F L > (mg/l) <0.001 <0. 001 <0.001 <0. 001 <0.001 <0.001
kY 7 v B = F L » (mg/l) <0.001 <0. 001 <0.001 <0. 001 <0.001 <0. 001
~ N + > (mg/L) <0.001 <0. 001 <0.001 <0. 001 <0.001 <0.001

UE [t F* iz (mg/L) <0. 06 0. 06 0. 06 0. 06 0. 06 0. 06
Vi = = i3 iz (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
7 = = AN JL 2 (mg/L) 0. 004 0. 003 0. 005 0. 006 0. 006 0. 009

15 v Vi = = i3 iz (mg/L) <0. 003 <0.003 <0.003 <0.003 <0.003 <0. 003
Y 7 m ® 7/ v v A & ¥ (ng/l) 0. 004 0. 007 0. 006 0. 003 0. 005 0. 005
5 # e (mg/L) <0.001 0. 004 0. 001 0. 002 0. 003 0. 002
W0 U N o m A2 X v (mg/l) 0.012 0.018 0.019 0.014 0.018 0. 022

BT D] Vi = a2 fE & (mg/L) <0. 003 <0.003 <0.003 <0.003 <0.003 <0. 003
7 v £ ¥ 7 o ona A % v (ng/l) 0. 004 0. 006 0. 006 0. 005 0. 006 0. 008
7 = B AN JL 2 (mg/L) <0. 001 0. 002 0. 002 <0. 001 0. 001 <0. 001
A v A 7 A F b K (mg/L) <0. 008 <0. 008 <0. 008 <0. 008 <0. 008 <0. 008
mogh k& = o kb A& B (ng/l) 0.1 0.1 0. 1 0.1 0. 1 0.1
TN = AKORZOAEY (ng/l) 0. 02 0. 02 0.03 0.03 0.04 0. 04
o Ok O F o A& W (ng/L) 0.1 0.1 0.1 0.1 0.1 0.1
F FU ALK E DAY (ng/l) 12.2 19. 1 12.9 11.9 15.2 12.3
BT TN = SRy N (EE) (ng/L) 37 43 40 34 38 33
7K & 7% ® ¥ (mg/L) 79 103 94 92 103 89
bz 4 4 v R om & M Al (mg/L) 0. 02 <0. 02 0. 02 <0. 02 0. 02 <0.02
D4 ES 7+ 2 N v (ng/L) <1 <1 <1 <1 <1 <1
2- A F A4 YV KRR F — )b (ng/L) <1 <1 <1 <1 <1 <1
I 4 A v R om w M A (mg/L) <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005
7 ES J — L ¥ (mg/L) <0.0005| <0.0005| <0.0005| <0.0005| <0.0005| <0.0005
TryFEUVEARZEONEW (mg/l) <0. 002 <0. 002
v 7 v k™ E O A (mg/L) <0. 0002 <0. 0002
= v vk RrZ oA W (mg/l) <0. 002 <0. 002
L2- v 7 m u = % VvV (mg/l) <0. 0004 <0. 0004
k L = > (mg/L) <0. 04 <0. 04

BlZ7 ANy - F v ~F ) (mg/L) <0. 008 <0. 008

i e # % (mg/L) <0. 06 <0. 06

Eﬁ vy 7 v w7 % b= U L (mgl) <0. 001 <0. 001

E; o kv w5 — 2 (mg/l) <0. 002 <0. 002

e | B PS b <1 <1

1\ |iE Hfe R fiz  (mg/L) 1.8 1.6 1.1 1.3 1.0 1.4

Bl,,1- U 7 v o8 = % > (ng/lL) <0. 03 <0. 03
A FN—t-7 F L x—F b (MBE) (mg/L) <0. 002 <0. 002
R = G B (TON) 1 1 1 1 1 1
7 N J VR -1.5 -1.2 -1.3 -1.4 -1.2 -1.2
e J& 5 # Gl (CFU/ml) 0 0
L1 — Y 7 m o = F L Vv (ng/L) <0.01 <0.01
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10 11 12 1 2 3 [E1s s 53l )
<0.0003|  <0.0003] <0.0003| <0.0003| <0.0003| <0.0003 12| <0.0003| <0.0003| <0.0003
<0.00005| <0.00005| <0.00005| <0.00005| <0.00005| <0.00005 12| <0.00005| <0.00005| <0.00005
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001
<0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 12 <0. 005 <0. 005 <0. 005
<0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 12 <0. 004 <0. 004 <0. 004
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001
1. 09 1.20 1.26 1.21 0.79 0. 96 12 1.26 0. 61 0. 96
<0. 08 <0. 08 0. 09 <0. 08 <0. 08 <0. 08 12 0.11 <0.08 <0. 08
0.1 <0.1 0.1 <0.1 0.1 <0.1 12 <0.1 0.1 0.1
<0.0002|  <0.0002| <0.0002| <0.0002| <0.0002|  <0.0002 12| <0.0002| <0.0002|  <0.0002
<0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 12 <0. 005 <0. 005 <0. 005
<0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 12 <0. 004 <0. 004 <0. 004
<0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 12 <0. 002 <0. 002 <0. 002
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001
<0. 06 <0. 06 <0. 06 <0. 06 <0. 06 0. 06 12 0. 06 <0. 06 <0. 06
<0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 12 <0. 002 <0. 002 <0. 002
0. 004 0. 003 0. 004 0. 004 0. 002 0. 004 12 0. 009 0. 002 0. 004
<0. 003 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003 12 <0. 003 <0. 003 <0. 003
0. 005 0. 003 0. 005 0. 005 0. 002 0. 006 12 0. 007 0. 002 0. 005
0. 002 0.001 <0. 001 <0. 001 <0. 001 <0. 001 12 0. 004 <0. 001 0. 001
0.015 0.010 0.014 0.016 0. 006 0.018 12 0. 022 0. 006 0.015
<0. 003 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003 12 <0. 003 <0. 003 <0. 003
0. 005 0. 003 0. 004 0. 005 0. 002 0. 006 12 0. 008 0. 002 0. 005
0. 001 0.001 0. 001 0. 002 <0. 001 0. 002 12 0. 002 <0. 001 0. 001
<0. 008 <0. 008 <0. 008 <0. 008 <0. 008 <0. 008 12 <0. 008 <0. 008 <0. 008
0.1 0.1 0.1 0.1 0.1 0.1 12 0.1 0.1 0.1
0.03 0.02 0.02 0.02 0.02 0.02 12 0.04 0.02 0.03
0.1 0.1 0.1 0.1 0.1 0.1 12 0.1 0.1 0.1
16. 1 15. 7 17.9 16. 7 12.7 15.6 12 19.1 11.9 14.9
41 41 46 42 36 40 12 46 33 39
103 106 116 101 92 98 12 116 79 98
<0. 02 <0. 02 <0. 02 <0. 02 <0. 02 <0. 02 12 <0. 02 <0. 02 <0. 02
<1 <1 <1 <1 <1 <1 12 <1 <1 <1
<1 <1 <1 <1 <1 <1 12 <1 <1 <1
<0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 12 <0. 005 <0. 005 <0. 005
<0.0005| <0.0005| <0.0005| <0.0005| <0.0005| <0.0005 12| <0.0005| <0.0005| <0.0005
<0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
<0. 0002 <0. 0002 4] <0.0002| <0.0002|  <0.0002
<0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
<0. 0004 <0. 0004 4] <0.0004| <0.0004| <0.0004
<0. 04 <0. 04 4 <0. 04 0. 04 <0. 04
<0. 008 <0. 008 4 <0. 008 <0. 008 <0. 008
<0. 06 <0. 06 4 <0. 06 <0. 06 <0. 06
<0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
<0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
<1 <1 4 <1 <1 <1
1.1 1.9 1.5 1.8 1.8 2.2 12 2.2 1.0 1.5
<0.03 <0.03 4 <0.03 <0.03 <0.03
<0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
1 1 1 1 1 1 12 1 1 1
-1.2 -1.3 -1.2 -1.3 -1.6 -1.4 12 -1.2 -1.6 -1.3
0 0 4 0 0 0
<0. 01 <0. 01 4 <0. 01 <0. 01 <0. 01
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13—y 7ue7a~X(D—D) (mg/L) <0.0005|  <0.0005|  <0.0005|  <0.0005 4| <0.0005| <0.0005|  <0.0005
22 — DPA (X 748 v ) (ng/l) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
24 — D ( 24 — P A ) (mg/L) <0.0003|  <0.0003|  <0.0003|  <0.0003 4| <0.0003| <0.0003|  <0.0003
E P N (mg/L) | <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
M C P A (mg/L) <0.0003|  <0.0003|  <0.0003|  <0.0003 4| <0.0003|  <0.0003|  <0.0003
7 v = a 2 (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
7 +* -7 - — k (mg/L) <0.0008|  <0.0008|  <0.0008|  <0.0008 4| <0.0008|  <0.0008|  <0.0008
7 k 7 > v (mg/L) <0.0001|  <0.0001|  <0.0001|  <0.0001 4| <0.0001| <0.0001| <0.0001
7 = u N A (mg/L) | <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
7 2 k 7 A (mg/L)

T 7 7 o — JL (mg/L) <0.0003|  <0.0003|  <0.0003|  <0.0003 4| <0.0003| <0.0003|  <0.0003
A4 Y ¥ Y% F A v (mg/L)| <0.00008| <0.00008| <0.00008| <0.00008 4| <0.00008| <0.00008| <0.00008
A4 v 7 = ¥ A A (mg/L)| <0.00001| <0.00001| <0.00001| <0.00001 4| <0.00001| <0.00001| <0.00001
A4 T a7 (MIPC) (mg/l) <0.0001|  <0.0001|  <0.0001|  <0.0001 4| <0.0001| <0.0001| <0.0001
A4 7 aF 4+ Z7 2 (1PT) Mgl <0. 003 <0.003 <0. 003 <0.003 4 <0. 003 <0.003 <0.003
A4 7 X kK A (I BP) (gL €0.0009|  <0.0009|  <0.0009|  <0.0009 4 <0.0009| <0.0009| <0.0009
A N / 7 Vi v v (mg/L) <0. 001 <0. 001 <0. 001 <0.001 4 <0.001 <0. 001 <0. 001
A4 v K ) 7 7 > (mg/L) | <0.00009| <0.00009| <0.00009| <0.00009 4| <0.00009| <0.00009| <0.00009
= Z2 ZF w H N 7 (mg/L) <0.0003|  <0.0003|  <0.0003|  <0.0003 4| <0.0003| <0.0003|  <0.0003
TF47=xvhA (=Y 7=vhkx, EDDP) (mg/L) | <0.00006| <0.00006| <0.00006| <0.00006 4| <0.00006| <0.00006| <0.00006
™ N 7 = Vv 7 v v 7 A (ng/l) <0.0008|  <0.0008|  <0.0008|  <0.0008 4| <0.0008| <0.0008|  <0.0008
YT = (= rm AV — ) (mg/L) | <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
TURANLNT 7 (R ) (ng/L) <0.0001|  <0.0001|  <0.0001|  <0.0001 4| <0.0001| <0.0001| <0.0001
F ¥ ¥ ¥ 7 v A F v (ng/L) <0.0002|  <0.0002|  <0.0002|  <0.0002 4 <0.0002| <0.0002| <0.0002
F X v 8 (A ) (ng/L) <0.0004|  <0.0004| <0.0004|  <0.0004 4| <0.0004| <0.0004|  <0.0004
F U ¥ 2 F m v (ng/L) <0.001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
il z Va 7R Z  (mg/L) | <0.00006| <0.00006| <0.00006| <0.00006 4| <0.00006| <0.00006| <0.00006
B 7 = v A b 1 — L (mg/L)| <0.00008| <0.00008| <0.00008| <0.00008 4| <0.00008| <0.00008| <0.00008
7 JL A > 7 (mg/L)

B o8 U L (N A C ) (mg/L) <0.0005|  <0.0005|  <0.0005|  <0.0005 4| <0.0005| <0.0005| <0.0005
B o 7 wm X2 K (mg/L) <0.0004|  <0.0004| <0.0004|  <0.0004 4| <0.0004| <0.0004|  <0.0004
7 % N 7 7 > (mg/L) | <0.00005| <0.00005 <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
¥ /7 7 7 2 v (A C N ) (mg/L)| <0.00005 <0.00005/ <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
X ¥ v v > (mg/L) <0.003 <0. 003 <0.003 <0. 003 4 <0. 003 <0.003 <0. 003
Vi N % = v (mg/L) <0.0003|  <0.0003|  <0.0003|  <0.0003 4| <0.0003|  <0.0003|  <0.0003
7 ) N H — ~ (mg/L) <0. 02 <0. 02 <0. 02 <0. 02 4 <0. 02 <0. 02 <0. 02
7 v K ¥ Fx  — b (mg/L)

4 o X 7 n > " (mg/L) <0.0002|  <0.0002|  <0.0002|  <0.0002 4| <0.0002|  <0.0002|  <0.0002
o=t 7= (CNP) (mgL) <0.0001|  <0.0001|  <0.0001|  <0.0001 4| <0.0001| <0.0001| <0.0001
7 =4 LV =5 D) AN A (mg/L) | <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
s uvu o=, (TP N) (mg/lL) <0.0005|  <0.0005|  <0.0005|  <0.0005 4| <0.0005| <0.0005|  <0.0005
v 7 + 4 > (mg/L) | <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
7 A A (CY A P ) (mg/L)| <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
Y v m v (D C M U ) (mng/L) <0.0002|  <0.0002|  <0.0002|  <0.0002 4| <0.0002| <0.0002|  <0.0002
v /7 X =, (D BN ) (ng/L) <0.0001|  <0.0001|  <0.0001|  <0.0001 4| <0.0001| <0.0001| <0.0001
Y Zua ) AR A (DDV P) (mg/L)| <0.00008 <0.00008 <0.00008| <0.00008 4| <0.00008| <0.00008| <0.00008
P4 7 % > k (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
CANIKRR Y (ZF IV FF ARL) (mg/L) | <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
P4 va 7 / v (mg/L)

I A v RN A — kR K (ng/L)

v ¥ 74 = JL (mg/L) | <0.00009| <0.00009| <0.00009| <0.00009 4| <0.00009| <0.00009| <0.00009
oo om okR v 77 F b (mg/L)| <0.00006| <0.00006| <0.00006| <0.00006 4| <0.00006| <0.00006| <0.00006
v o= ¥ v (. C A T ) (mg/L)| <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
v R xR K ) v (mg/L) <0.0002|  <0.0002|  <0.0002|  <0.0002 4| <0.0002| <0.0002|  <0.0002
v A S T — ~ (mg/L) <0.0005|  <0.0005|  <0.0005|  <0.0005 4| <0.0005| <0.0005|  <0.0005
P4 A k ) > (mg/L) <0.0003|  <0.0003|  <0.0003|  <0.0003 4| <0.0003|  <0.0003|  <0.0003
v R rF X — F (mg/L) | <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
v A 7 D J > (mg/L) | <0.00005| <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
v e A = > (mg/L) <0.008 <0. 008 <0.008 <0. 008 4 <0. 008 <0.008 <0.008
v / A D4 L (mg/L)

va 7 v = L (mg/L) <0.001 <0. 001 <0.001 <0. 001 4 <0. 001 <0.001 <0. 001
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F % = 2 (mg/L) <0. 0002 <0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002
F X ¥ h v 7 (mg/L) <0. 0008 <0. 0008 <0. 0008 <0. 0008 4 <0. 0008 <0. 0008 <0. 0008
F A4 7 7 F— b A F ) (ng/L) <0.003 <0. 003 <0.003 <0. 003 4 <0. 003 <0.003 <0. 003
F o+ N v 7 (mg/L) <0. 0002 <0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002
TNVT N7 (MBPMC) (mg/L) <0. 0002 <0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002
k ) 7 = v L (mg/L) <0.00006|  <0.00006| <0.00006| <0.00006 4| <0.00006| <0.00006| <0.00006
U Zma Ak (DEP) (mg/L) <0.00005|  <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
kU Y s Z v — 3 (mg/L) <0. 0008 <0. 0008 <0. 0008 <0. 0008 4 <0. 0008 <0. 0008 <0. 0008
Uz oo Z v (ng/L) <0. 0006 <0. 0006 <0. 0006 <0. 0006 4 <0. 0006 <0. 0006 <0. 0006
+ vl = X N K (mg/L) <0. 0003 <0. 0003 <0. 0003 <0. 0003 4 <0. 0003 <0. 0003 <0. 0003
A 7 = — bk (mg/L)

= ~ = R Z (mg/L) | <0.000009| <0.000009| <0.000009| <0.000009 4| <0.000009| <0.000009| <0.000009
= = 7 =] = JL (mg/L)

g Y % v 7 = v (mg/L) <0.00004|  <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
7V x—hF (YL —F) (ng/L) <0. 0002 <0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002
vy X 7 = v F A v (mg/L) <0.00002|  <0.00002| <0.00002|  <0.00002 4| <€0.00002| <0.00002| <0.00002
v U 7 F o 7 (mg/L) <0. 0002 <0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002
= =4 ¥ = > (mg/L) <0. 0004 <0. 0004 <0. 0004 <0. 0004 4 <0. 0004 <0. 0004 <0. 0004
7 4 7 & = Jb (mg/L) | <0.000005| <0.000005| <0.000005| <0.000005 4| <0.000005| <0.000005| <0.000005
ZJx=bunF AL (MEP) (mg/L) <0.00003|  <0.00003| <0.00003| <0.00003 4| <€0.00003| <0.00003| <0.00003
T2 /)7 N7 (BPMC) (mg/L) <0. 0003 <0. 0003 <0. 0003 <0. 0003 4 <0. 0003 <0. 0003 <0. 0003
- S ) N a v (mg/L)

72 F A (MPP) (mg/L) <0.00006|  <0.00006| <0.00006| <0.00006 4] <0.00006| <0.00006| <0.00006
7z hrx—hK(PAP) (ng/L) <0.00007|  <0.00007| <0.00007| <0.00007 4| <0.00007| <0.00007|  <0.00007
7 = v b 7 ¥ I F (mg/l) <0. 0001 <0. 0001 <0.0001 <0. 0001 4 <0. 0001 <0.0001 <0. 0001
7 VA 7 A K (mg/L) <0. 001 <0.001 <0. 001 <0.001 4 <0. 001 <0.001 <0. 001
7 X /AR — L (mg/L) <0. 0003 <0. 0003 <0. 0003 <0. 0003 4 <0. 0003 <0. 0003 <0. 0003
7 v N R A (mg/L) <0. 0002 <0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002
7 7 v 7 = ¥ v (ng/L) <0. 0002 <0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002
-7 ) 7 Y A (mg/L) <0. 0003 <0. 0003 <0. 0003 <0. 0003 4 <0. 0003 <0. 0003 <0. 0003
7 v F 7 7 v — ) (ng/L) <0. 0005 <0. 0005 <0. 0005 <0. 0005 4 <0. 0005 <0. 0005 <0. 0005
A= v 2 F v (mg/L) <0. 0009 <0. 0009 <0. 0009 <0. 0009 4 <0. 0009 <0. 0009 <0. 0009
7 v F A K A (mg/l)

7 a v a F v — 3 (mg/L) <0. 0005 <0. 0005 <0. 0005 <0. 0005 4 <0. 0005 <0. 0005 <0. 0005
7 B =S A 2 K (mg/L) <0. 0005 <0. 0005 <0. 0005 <0. 0005 4 <0. 0005 <0. 0005 <0. 0005
7 o X F J — L (mg/L) <0. 0005 <0. 0005 <0. 0005 <0. 0005 4 <0. 0005 <0. 0005 <0. 0005
7 i T 7 Ea K (mg/L) <0.001 <0.001 <0. 001 <0.001 4 <0.001 <0. 001 <0.001
~ J 3 JL (mg/L) <0. 0002 <0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002
~ Y = > (mg/L) <0. 001 <0.001 <0.001 <0. 001 4 <0. 001 <0.001 <0. 001
N v v v 7 oua v (ng/L) <0. 0009 <0. 0009 <0. 0009 <0. 0009 4 <0. 0009 <0. 0009 <0. 0009
X v 7 2 F oy 7 (mg/L) <0.00008|  <0.00008| <0.00008| <0.00008 4| <0.00008| <0.00008|  <0.00008
~ b b ' v (mg/L) <0.002 <0. 002 <0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
N v T 4 A KE Y v (mg/L) <0. 003 <0.003 <0. 003 <0.003 4 <0.003 <0.003 <0.003
N v 7 F F v 7 (mg/L) <0. 0004 <0. 0004 <0. 0004 <0. 0004 4 <0. 0004 <0. 0004 <0. 0004
Ry F) o (R2aY ) (ng/L) <0.0001 <0. 0001 <0.0001 <0. 0001 4 <0. 0001 <0.0001 <0. 0001
~ v 7 L  — b (mg/L) <0. 0007 <0. 0007 <0. 0007 <0. 0007 4 <0. 0007 <0. 0007 <0. 0007
A A F 7 ¥ — b (mg/L) <0.00003|  <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003|  <0.00003
~9F 4 (~ T ) (mg/L) <0. 0005 <0. 0005 <0. 0005 <0. 0005 4 <0. 0005 <0. 0005 <0. 0005
AaZ7uay 7 (MCPP) g/l <0. 0005 <0. 0005 <0. 0005 <0. 0005 4 <0. 0005 <0. 0005 <0. 0005
A v N JL (mg/L) <0. 0003 <0. 0003 <0. 0003 <0. 0003 4 <0. 0003 <0. 0003 <0.0003
A X A (J — N A ) (mg/L)

A vl 7 ¥ > L (mg/L) <0. 0006 <0. 0006 <0. 0006 <0. 0006 4 <0. 0006 <0. 0006 <0. 0006
AFHXF AL (DMTP) (mg/L) <0.00004|  <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
XA F v ¥ 4 A~ v v (ng/l) <0. 0003 <0. 0003 <0. 0003 <0. 0003 4 <0. 0003 <0. 0003 <0. 0003
A M I 7 A b 1 B v (ng/L) <0. 0004 <0. 0004 <0. 0004 <0. 0004 4 <0. 0004 <0. 0004 <0. 0004
A k D) 7 Y v (mg/L) <0. 0003 <0. 0003 <0. 0003 <0.0003 4 <0. 0003 <0. 0003 <0. 0003
A 7 = F v v k (mg/L) <0. 0002 <0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002
A A o = JL (mg/L) <0.001 <0.001 <0.001 <0. 001 4 <0. 001 <0.001 <0.001
+ D) b — b (mg/L) <0.00005|  <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
= = ¥ <1 <1 <1 <1 4 <1 <1 <1
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5) B L TR RIEIKIRIK ok 360 5840 115K S B O Sl R 08 01 s BT IR 2

BN TR KRR (D 1)

[7S
A

JKHEK)

K /] 4 5 6 7 8 9
e 0 0 0 0 0 0
- i # B (CFu/mD) | B A 0 0 0 0 0 0
) 0 0 0 0 0 0

o4
N 1 5415

) - - - - - -
B | <0.001  <0.001| <0.001| <0.001| <0.001| <0.001
i K& O o b & W (mg/L) | &K <0.001] <0.001| <0.001| <0.001| <0.001| <0.001
S| <0.001|  <€0.001]  <0.001| <0.001| <0.001| <0.001
i <0. 03 <0.03 <0.03 <0.03 <0. 03 <0. 03
g &k O % o bt & ¥ (ng/l)| &K <0.03 <0.03 <0.03 <0.03 <0. 03 <0.03
= Jrg| o <0.03|  <0.03]  <0.03]  <0.03]  <0.03|  <0.03
| <0.001|  <0.001| <0.001| <0.001| <0.001| <0.001
<~ H RO EDOALE Y (ng/L) | KIE| <0.001] <0.001| <0.001| <0.001| <0.001| <0.001
%t S| <0001 <0.001]  <0.001| <0.001| <0.001| <0.001
o4 11.8 16.0 14.7 11.1 13.4 12.7
®woikt B A A v (mg/l) | 10. 4 14.0 10.9 10.6 11.6 10.6
H 1) 1.1 15.0 12.8 10.8 12.5 11.6
i 0.9 0.9 0.8 0.7 0.7 0.8
A s 7 (TOC)  (mg/L) | i 0.8 0.7 0.8 0.7 0.7 0.7
g RVIAS) 0.8 0.8 0.8 0.7 0.7 0.8
4] 7.53 7.64 7. 60 7.58 7.63 7.57
pH B IR 7.52 7.57 7.56 7.54 7.60 7.55
) 7.52 7.60 7.58 7.56 7.62 7.56
IS B BEAR L BERL B L BRER L R L
! £ WHER U BERL | RERL BER L BERL I BERL
4] 0.5 0.5 0.5 0.5 0.5 0.5
=) BB |RIK 0.5 0.5 €0.5 0.5 0.5 0.5
S| 0.5 0.5 0.5 0.5 0.5 0.5
4] 0.01| <0.01  <0.01|  <0.01 0. 02 0.01
] () | &IE|  <0.01 <0.01|  <0.01 <0.01|  <0.01]  <0.01
Sl <0.01) <0.01]  <0.01]  <0.01 0.01|  <0.01
) 3 15 0.71 0.69 0. 68 0.71 0.67 0.72
Sl M % OB % (ng/l)|[IE 0. 64 0.68 0.61 0.68 0. 65 0.68
: 1 0. 68 0. 68 0. 64 0.70 0. 66 0.70
;E; & 0.76 0.76 0.75 0.76 0.73 0.79
% % B i) F (mg/L) | FI& 0.74 0.74 0. 69 0.75 0. 72 0.72
% RIS 0.75 0.75 0.72 0.76 0.72 0.76
E Y% KMo,  # &) (ng/L) 0.9 0.8 0.9 0.8 0.7 1.1
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10 11 12 1 2 3 %4 =311 4159 R
0 0 0 0 0 0
0 0 0 0 0 0 24 0 0 0
0 0 0 0 0 0
24 -
<0.001|  0.001| <0.001| <0.001| <0.001| <0.001
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001 24/ 0.001 <0.001| <0.001
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001
<0.03|  <0.03/  <0.03|  <0.03  <0.03  <0.03
<0.03|  <0.03]  <0.03|  <0.03  <0.03  <0.03 24/ <0.03|  <0.03  <0.03
<0.03|  <0.03/  <0.03|  <0.03  <0.03  <0.03
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001 24| <0.001| <0.001] <0.001
<0.001| <0.001| <0.001| <0.001| <0.001| <0.001
17.6 14.0 16. 6 15.8 12.8 14.9
14.6 13.6 15. 4 15.7 11.7 13.8 24 17.6 10. 4 13.5
16.1 13.8 16. 0 15.8 12.2 14.3
0.9 0.9 0.9 0.9 0.8 0.8
0.8 0.8 0.7 0.9 0.7 0.8 24 0.9 0.7 0.8
0.8 0.8 0.8 0.9 0.8 0.8
7.57 7.57 7.54 7.58 7.54 7.57
7.55 7.54 7.53 7.49 7.53 7.55 24 7.64 7.49 7.56
7.56 7.56 7.54 7.54 7.54 7.56
BERL BEAR L RESRLU BRE SR L RE AL AL 24 R L
BER U BER U\ RER U BRER L RER L BERL 24 BERL
0.5 0.5 <0.5 0.5 <0.5 0.5
<0.5 0.5 0.5 0.5 0.5 0.5 24 0.5 0.5 <0.5
0.5 0.5 <0.5 0.5 <0.5 0.5
<0. 01 0.01|  <0.01 0. 02 0. 04 0.01
<0.01 0.01| <0.01/  <0.01| <0.01|  <0.01 24 0.04| <0.01|  <0.01
<0. 01 0.01|  <0.01 0.01 0.02|  <0.01
0.74 0.73 0.77 0.76 0.75 0.79
0. 70 0.71 0.73 0.71 0.72 0.72 24 0.79 0.61 0.71
0.72 0.72 0.75 0.74 0.74 0.76
0. 84 0.78 0.83 0. 84 0. 82 0. 84
0.75 0.77 0. 82 0. 80 0. 80 0.79 24 0. 84 0. 69 0.77
0. 80 0.78 0.82 0. 82 0.81 0.82
0.9 0.9 1 1.2 0.9 0.9 12 1.2 0.7 0.9
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B 7= R e ARKIEAK (2D 2)

HE / 4 5 6 7 8 9
i 17.2 22.9 25.8 27.2 29.8 27.8
7K B (O |&KK 15.6 22.3 22. 6 24. 2 29.0 25. 4
Tty 16. 4 22.6 24.2 25. 7 29. 4 26. 6
] 29.8 33.5 31.5 30. 4 31.9 32.4
7 iz 7 j B (mg/L) | i 28.3 31.8 29. 4 29.0 30.9 31.0
St 29.0 32.6 30. 4 29.7 31. 4 31.7
o |® g (mg/L) 2.1 L7 1.2 1.3 L. 1.5
il [i73 f& = % (mg/L) 0. 87 1.02 0.76 0.57 0.77 0. 54
it i3 A i > (mg/L) 17. 4 20.0 18.2 16.5 23.0 17. 4
Bly o v » A @ E (meg/l) 30 35 30 27 30 2%
~ 7 3% ¥ v A B OE (ng/L) 8 9 8 7 8 7
I B 15.3 17.6 17.1 14.9 17.3 16. 8
CE S = B . (mS/m) | Flk 14.1 17.0 14. 8 14.3 16.0 15.3
¥ 14.7 17.3 16.0 14.6 16.6 16.0
g s 7 i3 F# (mg/L) 10.3 8.2 8.6 8.4 7.3 7.9
Bl 0.032)  0.034]  0.040]  0.030|  0.030]  0.031
%4 B O m ok B & 0.030)  0.031] 0.032] 0.025| 0.030| 0.029
SE#gl 0 0.031)  0.032)  0.036]  0.028)  0.030|  0.030
e fm o e 5 W E (ng/l) 0. 057 0. 077 0. 062 0. 063 0. 066 0. 069
WO 9RO (O ) (mg/L) <0.001] <0.001| <0.001| <0.001| <0.001| <0.001
7Y 7 s AR Y T A (E/20L) 0 0
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10 11 12 1 2 3 %4 =311 4159 R
22.3 20. 2 14. 1 11.4 10.8 14.6
21.5 18.2 13.3 8.7 9.8 13.2 24 29.8 8.7 19.5
21.9 19.2 13.7 10. 0 10. 3 13.9
36. 2 33.6 35. 8 33.6 28. 8 32.1
33.8 32.9 33.4 32.8 27.0 30. 2 24 36. 2 27.0 31.7
35.0 33.2 34.6 33.2 27.9 31.2
1.2 2.2 1.7 1.9 2.1 2.6 12 2.6 1.2 1.7
1. 00 1.15 1.22 1.14 0. 82 0.98 12 1.22 0. 54 0.90
19.3 19.9 21.0 19.2 19.0 18.6 12 23.0 16.5 19.1
32 32 35 32 28 31 12 35 26 31
9 9 10 9 8 9 12 10 7 8
19.7 18.1 18.7 18.6 15.8 16.9
17.8 17.8 18.7 17.8 14.9 16. 1 24 19.7 14.1 16.7
18.8 18.0 18.7 18.2 15. 4 16.5
8.8 9.3 11.1 11.8 12. 4 10.6 12 12.4 7.3 9.6
0.035 0.035| 0.039| 0.038 0.033] 0.036
0.030| 0.032| 0.039] 0.037| 0.033] 0.035 24/ 0.040| 0.025  0.033
0.032| 0.034| 0.039| 0.038 0.033] 0.036
0.061|  0.055| 0.062| 0.063 0.061| 0.053 12| 0.077|  0.053]  0.062
<0.001| <0.001|  0.001| 0.001 <0.001| <0.001 12| 0.001| <0.001| <0.001
0 0 4 0 0 0
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BN 7= R taKieK (2D 3)

A
g 4 5 6 7 8 9
BRI U LAEOBEONAAAEY (g/L) <0.0003|  <0.0003|  <0.0003| <0.0003|  <0.0003| <0.0003
KB K O F o b A& W (mg/L)| <0.00005 <0.00005| <0.00005| <0.00005| <0.00005| <0.00005
v v kB ZE 0L A& P (ng/l) <0. 001 <0.001 <0.001 <0.001 <0.001 <0.001
b K O o b A B (mg/L) <0. 001 <0.001 <0.001 <0.001 <0.001 <0.001
N iy v A bt A W (mg/L) <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005
il fiFf 173 i = # (mg/L) <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004
YT A A kALY 7~ (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
i Bk e 2 R K OV fE e FE (mg/L) 0.87 1.02 0.76 0.57 0.77 0. 54
7 v # Lk O o A& W (ng/l) 0.10 0.10 0.11 0.11 0.11 0.11
KU F K O T oA W (ng/l) <0. 1 0.1 0.1 0.1 0.1 0.1
i iy 1k JiR F# (mg/L) €0.0002|  <€0.0002| <0.0002| <0.0002| <0.0002|  <0.0002
L4 — v A& % B v (ng/l) <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005
TITUM LT RETT ES BT e <0.004]  <0.004] 0,004 <0.004]  <0.004|  <0.004
Y 7 wmw ua A % v (ng/l) <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
¥l r 5 7 v v = F L v (gl <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
KU 7 v om = F L ¥ (ng/l) <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
~ v R > (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
#e |3 F % (ng/L) <0. 06 <0. 06 0.11 <0. 06 0.07 0.07
7 = = &3 /% (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
7 = = 7 JL 2 (mg/L) 0. 005 0. 005 0. 006 0. 008 0. 008 0. 008
w |¥ v & & At H& (mg/L) <0. 003 <0. 003 <0. 003 <0. 003 0.004|  <0.003
v 7 r® s mom A & v (mg/l) 0. 004 0. 006 0. 004 0. 003 0. 005 0. 003
B F /% (mg/L) <0. 001 0. 002 <0. 001 0.001 0. 002 0. 001
wor U o~ m A & v (mg/L) 0.014 0.019 0.019 0.017 0. 021 0.017
H N s wm wm F O (mg/L) <0. 003 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003
7 v T Y s m v A &% v (ng/L) 0. 005 0. 006 0. 005 0. 006 0. 008 0. 006
7 = £ i JL 2 (mg/L) <0. 001 0. 002 <0. 001 <0. 001 <0. 001 <0. 001
A v A 7 A F b K (mg/L) <0. 008 <0. 008 <0. 008 <0. 008 <0. 008 <0. 008
o & O F o b & % (mg/L) <0. 1 <0.1 0.1 0.1 0.1 0.1
TN =0 Ak OZ0LEY (ng/l) 0.03 0. 05 0.03 0. 04 0. 05 0. 05
M ok O = o &t & W (ng/l) <0.1 <0.1 <0.1 <0.1 0.1 0.1
T rFU T AKEDTEOAEYW g/ 11.7 15.8 11.0 11.2 14.1 11.7
AN T b v Ty A% (EE) (mg/L) 38 44 38 34 38 33
7 ¥ 53 B (mg/L) 69 94 84 67 85 111
ke A4 A v F m i B A (mg/L) <0. 02 0. 02 0. 02 0. 02 <0. 02 <0. 02
v - * 2 R > (ng/L) <1 <1 <1 <1 <1 <1
2- A F v A4 Y KNV % F — )b (ng/L) <1 <1 <1 <1 <1 <1
¥ A4 & v K om & B Al (ng/L) <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005
7 - J — IV $H (mg/L) <0.0005|  <0.0005| <0.0005| <0.0005| <0.0005| <0.0005
7T EUCEREOREY (ng/L) <0.002 <0. 002
v 7 v kO O LA W (mg/l) <0. 0002 <0. 0002
= H A kO EOAE D (mg/L) <0.002 <0. 002
Le- ¥ 7 m o#m x= % ¥ (mg/L) <0. 0004 <0. 0004
~ L - v (mg/L) <0. 04 <0. 04
wlz sy @-=F v ~x ) (mg/L) <0. 008 <0. 008
i iy i F & (mg/L) 0. 06 <0. 06
HI> 7 m a7 % F = F U & (mg/l) <0.001 <0. 001
;; wmoook 7 oz 7 — L (mg/L) <0.002 <0. 002
i | B il <1 <1
H |l i 74 & (mg/L) 1.9 1.5 1.1 1.1 1.1 1.3
BlLLi- F vV 7 v v = % > (ng/l) <0. 03 <0.03
A F)-t-7 F )bz —F )L MBE) (mg/L) <0. 002 <0.002
B & G E (TON) 1 1 1 1 1 1
7 v oy 7\ -1.5 -1.1 -1.3 -1.3 -1.2 -1.3
(G5 & ES i gl (CFU/m1) 0 0
Ll — Y 7 m v = F L v (mg/l) <0.01 <0.01
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10 11 12 1 2 3 [EIE*S 54 54158 B a)
<0.0003|  <0.0003|  <0.0003|  <0.0003| <0.0003|  <0.0003 12| <0.0003|  <0.0003|  <0.0003
<0.00005| <0.00005/ <0.00005| <0.00005| <0.00005 <0.00005 12| <0.00005| <0.00005/ <0.00005
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001
<0. 001 <0. 001 <0.001 <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001
<0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 12 <0. 005 <0. 005 <0. 005
<0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 12 <0. 004 <0. 004 <0. 004
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001
1. 00 1.15 1.22 1.14 0. 82 0. 98 12 1.22 0. 54 0. 90
0.08 <0. 08 0.10 0. 08 <0. 08 0. 08 12 0.11 <0. 08 0. 08
<0.1 <0.1 0.1 0.1 0.1 0.1 12 0.1 0.1 0.1
<0.0002|  <0.0002|  <0.0002|  <0.0002| <0.0002|  <0.0002 12| <0.0002|  <0.0002|  <0.0002
<0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 12 <0. 005 <0. 005 <0. 005
<0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 12 <0. 004 <0. 004 <0. 004
<0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 12 <0. 002 <0. 002 <0. 002
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001
0.08 0. 06 <0. 06 <0. 06 <0. 06 <0. 06 12 0.11 <0. 06 <0. 06
<0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 12 <0. 002 <0. 002 <0. 002
0. 005 0. 003 0. 004 0. 004 0.003 0.003 12 0. 008 0.003 0. 005
<0.003 <0.003 <0. 003 <0. 003 <0. 003 <0. 003 12 0. 004 <0.003 <0.003
0. 004 0. 004 0. 004 0. 004 0. 002 0.003 12 0. 006 0. 002 0. 004
<0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 12 0. 002 <0. 001 <0. 001
0.014 0.011 0.014 0.012 0. 008 0. 009 12 0.021 0. 008 0.015
<0. 003 <0.003 <0.003 <0. 003 <0. 003 <0. 003 12 <0. 003 <0.003 <0.003
0. 005 0. 004 0. 005 0. 004 0.003 0.003 12 0. 008 0.003 0. 005
<0. 001 <0. 001 0.001 <0. 001 <0. 001 <0. 001 12 0. 002 <0. 001 <0. 001
<0. 008 <0.008 <0.008 <0. 008 <0. 008 <0. 008 12 <0. 008 <0. 008 <0. 008
0.1 0.1 0.1 0.1 0.1 0.1 12 0.1 0.1 0.1
0. 04 0.03 0.03 0. 02 0. 02 0. 02 12 0. 05 0. 02 0.03
<0.1 <0.1 0.1 0.1 0.1 0.1 12 0.1 0.1 0.1
14.5 14.2 16.6 15.4 13.7 14.2 12 16.6 11.0 13.7
41 41 45 41 36 40 12 45 33 39
111 103 101 96 99 100 12 111 67 93
<0. 02 <0. 02 <0. 02 <0. 02 <0. 02 <0. 02 12 <0. 02 <0. 02 <0. 02
<1 <1 <1 <1 <1 <1 12 <1 <1 <1
<1 <1 <1 <1 <1 <1 12 <1 <1 <1
<0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 12 <0. 005 <0. 005 <0. 005
<0.0005|  <0.0005| <0.0005/ <0.0005| <0.0005| <0.0005 12| <0.0005| <0.0005|  <0.0005
<0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
<0. 0002 <0. 0002 4| <0.0002| <0.0002|  <0.0002
<0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
<0. 0004 <0. 0004 4| <0.0004| <0.0004|  <0.0004
<0. 04 <0. 04 4 <0. 04 <0. 04 <0. 04
<0. 008 <0. 008 4 <0. 008 <0. 008 <0. 008
<0. 06 <0. 06 4 <0. 06 <0. 06 <0. 06
<0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
<0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
<1 <1 4 <1 <1 <1
1.1 1.9 1.5 1.7 1.8 2.3 12 2.3 1.1 1.5
<0. 03 <0. 03 4 <0. 03 <0. 03 <0. 03
<0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
1 1 1 1 1 1 12 1 1 1
-1.3 -1.3 -1.3 -1.4 -1.6 -1.4 12 -1.1 -1.6 -1.3
0 0 4 0 0 0
<0.01 <0.01 4 <0.01 <0.01 <0.01
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1,3—Y7un7ua~X (D—D) (mg/L) <0.0005|  <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
22 —DPA (X ZK) (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0.001 <0.001 <0.001
24 — D (24 — P A ) (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
E P N (mg/L) | <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
M C P A (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
T v o = 2 (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
7 - = - — K (mg/L) <0.0008| <0.0008| <0.0008| <0.0008 4| <0.0008| <0.0008| <0.0008
7 ]\ v D% v (mg/L) <0.0001| <0.0001| <0.0001| <0.0001 4] <0.0001| <0.0001| <0.0001
7 = =4 iR 2 (mg/L) | <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
7 N b~ 7 A (mg/L)

7 = V4 o — JL (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
A4 Y X ¥ F  F > (mg/L)| <0.00008| <0.00008| <0.00008| <0.00008 4| <0.00008| <0.00008| <0.00008
A4 Y 7 = ¥ & A (mg/L)| <0.00001| <0.00001| <0.00001| <0.00001 4| <0.00001| <0.00001| <0.00001
A4y 7uaHBH 7 (MIPC) (mg/L) <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
Ay 7uaF A7 (IPT) (mg/L) <0.003 <0. 003 <0. 003 <0. 003 4 <0. 003 <0. 003 <0. 003
A 7N KRAXA(IBP) (mg/l) <0.0009|  <0.0009| <0.0009| <0.0009 4| <0.0009| <0.0009| <0.0009
A4 X J 7 X v v (ng/L) <0.001 <0.001 <0.001 <0.001 4 <0.001 <0.001 <0.001
A4 v X 7 7 7 v (mg/L)| <0.00009| <0.00009| <0.00009| <0.00009 4| <0.00009| <0.00009| <0.00009
— 2 7 v H ) 7 (mg/L) <0.0003|  <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
TF 4T = AR (=Y T =R A EDDP) (mg/L) | <0.00006| <0.00006| <0.00006| <0.00006 4| <0.00006| <0.00006| <0.00006
B 7 = v 7 v v 7 A (ng/L) <0.0008|  <0.0008| <0.0008| <0.0008 4| <0.0008| <0.0008|  <0.0008
TR TY = (mraxy—u) (ng/L) | <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
T RANLNT 7o (R ) (ng/L) <0.0001| <0.0001| <0.0001| <0.0001 4 <0.0001| <0.0001| <0.0001
F % % 2 7 g X K v (mg/L) <0.0002| <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002
T X 8 (F M H) (mg/L)| <0.0004] <0.0004| <0.0004| <0.0004 4| <0.0004| <0.0004| <0.0004
Uy % 2 F v v v (ng/l) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
71 z B 7N Z (mg/L) | <0.00006| <0.00006| <0.00006| <0.00006 4| <0.00006| <0.00006| <0.00006
B 7 = v A k7 — b (mg/L)| <0.00008| <0.00008| <0.00008| <0.00008 4| <0.00008| <0.00008| <0.00008
Vi % v 4 7 (mg/L)

SNy (N A C)  (mg/L) <0.0005| <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
v 7 v X I K (mg/L) <0.0004| <0.0004| <0.0004| <0.0004 4| <0.0004| <0.0004| <0.0004
71 Jb R 7 = > (mg/L) | <0.00005| <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
¥ /27 732 (A CN ) (mg/L)| <0.00005| <0.00005 <0.00005 <0.00005 4| <0.00005| <0.00005| <0.00005
X Y - b > (mg/L) <0. 003 <0. 003 <0. 003 <0. 003 4 <0.003 <0. 003 <0. 003
7 N JL =4 > (mg/L) <0.0003|  <0.0003|  <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
7 ) R A — ~ (mg/L) <0. 02 <0. 02 <0. 02 <0. 02 4 <0. 02 <0. 02 <0. 02
J v Ak ¥ x — b (mg/L)

7 o owa X 7 v v 7 (mg/L) <0.0002|  <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002|  <0.0002
su)r=ra 7=z (CNP) (mg/L) <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
7 oowm b v U A A (mg/L)| <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
souXua=,)L(TPN) (mglL) <0.0005|  <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
v 7 -+ D% > (mg/L) | <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
7 J KR A (CY AP ) (mg/L)| <0.00003 <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
v ey (DCMU) (mglL) <0.0002|  <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002|  <0.0002
7 ur~X=,L (DBN) (mglL) <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
ru )R A (DDVP) (mg/L)| <0.00008| <0.00008| <0.00008| <0.00008 4| <0.00008| <0.00008| <0.00008
D4 7 7 4 k (mg/L) <0. 001 <0. 001 <0. 001 <0.001 4 <0. 001 <0. 001 <0. 001
D ZNVIRR Y (mF I F A ARY)  (mg/L) | <0.00004| <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
P4 + 7 J > (mg/L)

CFA I N AN A=FFREIK (ng/l)

DX I 7 =4 JL (mg/L) | <0.00009| <0.00009| <0.00009| <0.00009 4| <0.00009| <0.00009| <0.00009
o nm R v 7 F b (mg/L) | <0.00006| <0.00006| <0.00006| <0.00006 4| <0.00006| <0.00006| <0.00006
v v v (C A T ) (mg/L)| <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
Y A X A b U v (mg/L) <0.0002| <0.0002| <0.0002| <0.0002 4| <€0.0002| <0.0002|  <0.0002
R 8 T — ~ (mg/L) <0.0005| <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005
v A I ) v (mg/L) <0.0003| <0.0003| <0.0003| <0.0003 4| <0.0003| <0.0003|  <0.0003
Y X ¥ L — k (mg/L)| <0.00003| <0.00003| <0.00003| <0.00003 4| <0.00003| <0.00003| <0.00003
X A 7 ) > (mg/L) | <0.00005| <0.00005| <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
vd A VN =i v (mg/L) <0. 008 <0. 008 <0. 008 <0. 008 4 <0. 008 <0. 008 <0. 008
vl 4 A > b (mg/L)

Ea 7 D% = JL (mg/L) <0.001 <0.001 <0.001 <0. 001 4 <0. 001 <0. 001 <0. 001
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F % = 2 (mg/L) <0. 0002 <0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002
F X ¥ h v 7 (mg/L) <0. 0008 <0. 0008 <0. 0008 <0. 0008 4 <0. 0008 <0. 0008 <0. 0008
F A4 7 7 F — b A F ) (ng/L) <0.003 <0. 003 <0.003 <0. 003 4 <0. 003 <0.003 <0. 003
F o+ N B v 7 (mg/L) <0. 0002 <0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002
TNT N7 (MBPMC) (mg/L) <0. 0002 <0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002
k ) 7 = v L (mg/L) <0.00006|  <0.00006| <0.00006| <0.00006 4| <0.00006| <0.00006| <0.00006
U Zma iRy (DEP) (mg/L) <0.00005|  <0.00005| <0.00005|  <0.00005 4| <0.00005| <0.00005|  <0.00005
kU Y s Z v — 3 (mg/L) <0. 0008 <0. 0008 <0. 0008 <0. 0008 4 <0. 0008 <0. 0008 <0. 0008
Uz v Z v (ng/L) <0. 0006 <0. 0006 <0. 0006 <0. 0006 4 <0. 0006 <0. 0006 <0. 0006
+ vl = X N K (mg/L) <0. 0003 <0. 0003 <0. 0003 <0. 0003 4 <0. 0003 <0. 0003 <0. 0003
A 7 = — bk (mg/L)

= ~ = R Z (mg/L) | <0.000009| <0.000009| <0.000009| <0.000009 4| <0.000009| <0.000009| <0.000009
= = 7 =] = JL (mg/L)

¥ g Y % v 7 = v (mg/L) <0.00004|  <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
7V x—kF (YL —F) (mg/L) <0. 0002 <0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002
vy X 7 = v F A v (mg/Ll) <0.00002  <0.00002|  <0.00002|  <0.00002 4| <€0.00002| <0.00002| <0.00002
v v 7 F A o 7 (mg/L) <0. 0002 <0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002
= =4 ¥ = > (mg/L) <0. 0004 <0. 0004 <0. 0004 <0. 0004 4 <0. 0004 <0. 0004 <0. 0004
7 4 7 & = JL (mg/L) | <0.000005| <0.000005| <0.000005| <0.000005 4| <0.000005| <0.000005| <0.000005
ZJx=bunF AL (MEP) (mg/L) <0.00003|  <0.00003|  <0.00003|  <0.00003 4| <€0.00003| <0.00003| <0.00003
T2/ 7 N7 (BPMC) (mg/L) <0. 0003 <0. 0003 <0. 0003 <0. 0003 4 <0. 0003 <0. 0003 <0. 0003
- S ) N a v (mg/L)

72 F A (MPP) (mg/L) <0.00006|  <0.00006|  <0.00006| <0.00006 4] <0.00006| <0.00006| <0.00006
7z hrx—hK(PAP) (ng/L) <0.00007|  <0.00007|  <0.00007| <0.00007 4| <0.00007| <0.00007|  <0.00007
7 = v b 7 ¥ I F (mg/l) <0. 0001 <0. 0001 <0.0001 <0. 0001 4 <0. 0001 <0.0001 <0. 0001
7 VA 7 A K (mg/L) <0. 001 <0.001 <0. 001 <0.001 4 <0. 001 <0.001 <0. 001
7 X /AR — L (mg/L) <0. 0003 <0. 0003 <0. 0003 <0. 0003 4 <0. 0003 <0. 0003 <0. 0003
7 vl N R A (mg/L) <0. 0002 <0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002
7 7 v 7 = ¥ v (ng/L) <0. 0002 <0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002
-7 ) 7 Y A (mg/L) <0. 0003 <0. 0003 <0. 0003 <0. 0003 4 <0. 0003 <0. 0003 <0. 0003
7 v F 7 7 v — 1 (ng/L) <0. 0005 <0. 0005 <0. 0005 <0. 0005 4 <0. 0005 <0. 0005 <0. 0005
A= v 2 F v (mg/L) <0. 0009 <0. 0009 <0. 0009 <0. 0009 4 <0. 0009 <0. 0009 <0. 0009
7 v F A K A (mg/l)

7 a ¥ a F v — 1 (mg/L) <0. 0005 <0. 0005 <0. 0005 <0. 0005 4 <0. 0005 <0. 0005 <0. 0005
7 B =S A 2 K (mg/L) <0. 0005 <0. 0005 <0. 0005 <0. 0005 4 <0. 0005 <0. 0005 <0. 0005
7 o X F J — L (mg/L) <0. 0005 <0. 0005 <0. 0005 <0. 0005 4 <0. 0005 <0. 0005 <0. 0005
7 i T 7 Ea K (mg/L) <0.001 <0.001 <0. 001 <0.001 4 <0.001 <0. 001 <0.001
~ J 3 JL (mg/L) <0. 0002 <0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002
~ Y o > (mg/L) <0. 001 <0.001 <0.001 <0. 001 4 <0. 001 <0.001 <0. 001
N v v v 7 oua v (ng/L) <0. 0009 <0. 0009 <0. 0009 <0. 0009 4 <0. 0009 <0. 0009 <0. 0009
X v 7 2 F oy 7 (mg/L) <0.00008|  <0.00008| <0.00008|  <0.00008 4| <0.00008| <0.00008| <0.00008
~ b b ' v (mg/L) <0.002 <0. 002 <0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
N v T 4 A KE Y v (mg/L) <0. 003 <0.003 <0. 003 <0.003 4 <0.003 <0.003 <0.003
~N 7T )L 7 (mg/L) <0. 0004 <0. 0004 <0. 0004 <0. 0004 4 <0. 0004 <0. 0004 <0. 0004
Ry F) o (R2aY ) (ng/L) <0.0001 <0. 0001 <0.0001 <0. 0001 4 <0. 0001 <0.0001 <0. 0001
~ v 7 v  — b (mg/L) <0. 0007 <0. 0007 <0. 0007 <0. 0007 4 <0. 0007 <0. 0007 <0. 0007
A A F 7 ¥ — b (mg/L) <0.00003|  <0.00003|  <0.00003|  <0.00003 4| <0.00003| <0.00003|  <0.00003
~F A (~ T ) (mg/L) <0. 0005 <0. 0005 <0. 0005 <0. 0005 4 <0. 0005 <0. 0005 <0. 0005
AaZ7uay 7 (MCPP) g/l <0. 0005 <0. 0005 <0. 0005 <0. 0005 4 <0. 0005 <0. 0005 <0. 0005
A v N JL (mg/L) <0. 0003 <0. 0003 <0. 0003 <0. 0003 4 <0. 0003 <0. 0003 <0.0003
A N (H N A ) (mg/L)

A vl 7 ¥ > b (mg/L) <0. 0006 <0. 0006 <0. 0006 <0. 0006 4 <0. 0006 <0. 0006 <0. 0006
AFHXF AL (DMTP) (mg/L) <0.00004|  <0.00004| <0.00004| <0.00004 4| <0.00004| <0.00004| <0.00004
XA F v ¥ 4 A~ v v (ng/l) <0. 0003 <0. 0003 <0. 0003 <0. 0003 4 <0. 0003 <0. 0003 <0. 0003
A M I 7 A b 1 B v (ng/L) <0. 0004 <0. 0004 <0. 0004 <0. 0004 4 <0. 0004 <0. 0004 <0. 0004
A k D) 7 Y v (mg/L) <0. 0003 <0. 0003 <0. 0003 <0.0003 4 <0. 0003 <0. 0003 <0. 0003
A 7 = F v v k (mg/L) <0. 0002 <0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002
A A o = JL (mg/L) <0.001 <0.001 <0.001 <0. 001 4 <0. 001 <0.001 <0.001
+ D) b — b (mg/L) <0.00005|  <0.00005|  <0.00005| <0.00005 4| <0.00005| <0.00005| <0.00005
= = ¥ <1 <1 <1 <1 4 <1 <1 <1
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